SOME 3D-DETERMINANT PROPERTIES FOR CALCULATING OF CUBIC-MATRIX OF
ORDER 2 AND ORDER 3

ARMEND SALIHU AND ORGEST ZAKA

AssTrACT. In this paper we have studied some properties for determinant-calculating for cubic-
matrix of order 2 and order 3. These properties are analogous to some properties for determinants
of square matrix we have proved and noted that these properties also are applicable (or not in some
details) on this concept for cubic-matrix of orders 2 and 3. All results in this paper, are presented in
detail during the theorem proofs.

1. INTRODUCTION

In this paper we prove some properties for determinant of cubic-matrix of order 2 and order
3. In the paper [2], we have defined the concept of determinant for cubic-matrix of order 2 and
order 3, and we have prove some basic properties for calculating this determinants. This idea for
developing this concept, it came simply from the determinant of 2D square matrices [19,20, 21, 24,
25, 26|, 29], as well as determinant of rectangular matrices [3} 15, 16,17, (18, 30,131,132, 33]. In paper
[1] we have prove that the Laplace expansion method is valid for calculating the determinant of
cubic-matrix for orders 2 and 3. Encouraged by geometric intuition, in this paper we are trying
to give an idea and visualize the meaning of the determinants for the cubic-matrix. Our early
research mainly lies between geometry, algebra, matrix theory, etc., (see [4], [5], [6], [7], [8], [0,
[101, [111, [12], [13], [14]).

This paper is continuation of the ideas that arise based on previous researches of 3D matrix ring
with element from any whatever field F see [22], but here we study the case when the field F is the
tield of real numbers R also is continuation of our research [2] and [1] related to the study of the
properties of determinants for cubic-matrix of order 2 and 3. In this paper we follow a different
method from method which is studied in [23]].

2. RESULTS FOR MORE PROPERTIES OF DETERMINANTS OF CUBIC-MATRIX OF ORDER 2 AND ORDER 3

In this section, all proofs of our theorems are based on the definition of determinant for cubic-
matrix of orders 2 and 3, presented in the papers [2] and [1], and results obtained in these papers.

The proofs of the following Theorems are too loaded with indices to calculate, and we are
trying to make them a little simpler by separating them case by case, to avoid the difficulty of
calculations!

Theorem 1. Let’s be A and B 3D-cubic matrix with same order (second and third order matrices), then we
have that:
det(A + B) = det(A) + det(B)

Proof. Case 1. The cubic-matrix A of order 2, (and B has order 2), we will proof the case 1 for each

“horizontal layer”, “vertical page” and “vertical layer”, as following;:
1. For plan i = 1: Let A and B be cubic-matrix of order 2, where all elements on the plani =1
are identical in both matrices, then based on definition of determinant of cubic-matrix presented

in [2] and [1] we have:

a2 222 ble b221 b212 b222

a a
det[Azxox2] + det[Baxoxe] = det m o #21
a1 a4

a a a a
112 122 )+d€t( 111 121

a1z a1 )

= A111 - Axp — (112 * A201 — G121 * G212 + A120 * A211 + A111 - booo — 112 - ooy — @121 - b1 + 122 - bona
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while,

a111 a121 a112 a122
det[AZ 252 + Boso 2] = det
XX XX ax11 + ban Ao + boo1| a2 + by Ao + bom

= aq11 - (A2 + b2) — A112 - (@221 + boo1) — @121 * (G212 + bo12) + a122 - (A211 + b211)
= a111 - Axp + 4111 - bazo — @112 - Ao01 — A112 - boo1 — (121 - G212 — @121~ borp + A1 - Ao11 + (122 - bona
If we compare results of above equations, we can see that we have the same result in both cases.
Similarly we will proof for all other cases.

2. For plani = 2: Let A and B be cubic-matrices of order 2, where all elements on the plan i = 2
are identical in both matrices, then we have:

a a
det[Asoxo] + det[Bososa] = det| 1 T
a1 a4

a1z 4122 )+det(bm bio1

a2 0222 11 a2

b112 b122 )

dr12 222

= a111 - Axp — (112 * A201 — G121 * G212 + A122 * A211 + D111 - Ao — br1n - Aao1 — bioy - o1z + b1z - donn
while,
i+ b o+ bin

det[Axxoxo + Boxoxe] = det
as11 a1

12 + bin a1 + b
ax12 axn

= (@111 + b111) - a2 — (@112 + b112) * 4201 — (@121 + D11) - a12 + (@122 + b122) - A1
= a111 - Ay + b111 - Aoz — A112 - Ag1 — D11 - Aop1 — (121 - G212 — b1o1 - G212 + G120 - 11 + b1z - donn
If we compare results of above equations, we can see that we have the same result in both cases.

3. For plan j = 1: Let A and B be cubic-matrices of order 2, where all elements on the plan j =1
are identical in both matrices, then we have:

a a
det[AZXZXZ] + det[B2X2X2] = det 11 121
a1 A

a a a b
m2 M2 | gap (%4 blZl
dx12 0222 az11 Uo21

a2 bim )

a2 b

= a111 - Axp — (112 * A1 — G121 * G212 + A122 * A211 + 4111 - booo — 112 - ooy — Dioy - Ao12 + b1z - domn
while,

a1 M + bin
det[A2><2><2 + Bz><2><2] = det b
a1 Az + b1

M2 A2 + b
Axp Axn + b

= a1 - (Ao + bxo) — ay1z + (@221 + baz1) — (@121 + b121) - a1z + (@122 + D122) - A1
= a111 - Ay + 111 - baxo — @112 - Ag01 — A112 - boo1 — @121 - A212 — b1g1 - G212 + A122 - 211 + brog - A1
If we compare results of above equations, we can see that we have the same result in both cases.

4. For plan j = 2: Let A and B be cubic-matrices of order 2, where all elements on the plan j = 2
are identical in both matrices, then we have:

a a
det[AZXZXZ] + det[B2X2X2] = det 11 121
a1 A

a a b a
m2 M2 |, gat b111 121
a2 a222 211 4221

bz @2 )

boin am»

= a111 - Axp — (112 * A1 — G121 * G212 + @122 * A211 + D11 - Ao — br1n - Aoo1 — @121+ b1z + 122 - bonn
while,

a1+ b mn
d-et[AZxeZ + BZ><2><2] = det b
a1 + 0211 A1

M1+ b M
Ay + ban Ao

= (@111 + b111) - G220 — (@112 + b112) - 201 — @121 - (@212 + D212) + A122 - (@211 + bo11)
= a111 - Ay + b111 - G20 — @112 - Ag01 — D112 - A1 — (121 - G212 — @121 * borp + A1z - A211 + G122 - bonn
If we compare results of above equations, we can see that we have the same result in both cases.

5. For plan k = 1: Let A and B be cubic-matrices of order 2, where all elements on the plan k = 1
are identical in both matrices, then we have:

a a
det[AZXZXZ] + det[B2X2X2] = det 111 121
a1 A

a a a1 4121
m2 M2 |, gat
dx12 0222 az11 a1

bllZ b122 )

b212 b222

= 411 * Ao — (112 * Ag01 — (121 * A212 + A122 * A211 + @111 - boop — D11 - o1 — @121 - ba1o + bioo - a0
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while,

Ax12 + ban  Anpo + box

a1 4121
det[Azxox2 + Baxoxe] = det
11 a221

112 + b1z a1 + b1 )

= 11 * (A2 + baxo) — (@112 + b112) * A201 — @121 * (@212 + bo12) + (@122 + b1n2) - ao11
= a111 - Az + 111 - bazo — @112 - G201 — D112 - Aoo1 — (121 - G212 — @121 * bop + A1 - Ao11 + b1z - do11
If we compare results of above equations, we can see that we have the same result in both cases.

6. For plan k = 2: Let A and B be cubic-matrices of order 2, where all elements on the plan k = 2
are identical in both matrices, then we have:

a a
det[Azox] + det[Baxawe] = det| 1 "1
ar1 A1

ai112 d122 )+det(bm b1

az12 A0 b ban

ai112 122
az12 a2

= A111 - Axp — (112 - A201 — @121 * A212 + @122 * Ap11 + D111 - Ao — 112 - ooy — Doy - Ao12 + A122 - bo1n
while,
a1 + b o + bin

det[A + B = det
[ 2X2X2 2><2><2] (ﬂ?.ll + b211 don + b27_1

a2 a122
dr12 0222

= (111 + b111) - 4220 — 112 - (@221 + boo1) — (@121 + b1x1) - 212 + @120 * (G211 + b211)
= a111 - Ay + bi11 - G20 — @112 - Ago1 — A112 - boo1 — (121 - A212 — b1g1 - G212 + A122 - 211 + 122 - bonn

If we compare results of above equations, we can see that we have the same result in both cases.
Case 2. The cubic-matrix A of order 3, (and B has order 3), we will proof the case 1 for each

aaii

“horizontal layer”, “vertical page” and “vertical layer”, as following:
1. For plan i = 1: Let A and B be cubic-matrices of order 3, where all elements on the plani =1
and i = 2 are identical in both matrices, then we have:

a1 4121 4131|4112 4122 4132 (@113 4123 4133
det[Asxsxs] + det[Bsxaxs] = det| ax11 a221 ao31|d212 G20 232 |A213 A2z 233
az11 a321 as331(d312 4322 4332 (1313 323 4333

ai111 4121 4131|4112 4122 4132 (4113 4123 4133
+det| axi1 a1 ap1|d212 Ao G232 |A213 A3 (233
bsir b3 basi|bsiz bspo bsso|bsiz bsps bsss

= (@111 - A - A333 — A111 * A232 * A323 — (111 * A203 * A332 + A111 * A233 * A3p2 — A112 * A1 * (333
+a112 - G223 - A331 + A112 * A231 ~ A323 — A112 * 4233 * A321 + A113 * A221 - A332 — @113 * A222 * 4331
—a113 " 4231 * 322 + 4113 * A232 * A321 — A121 * A212 * 4333 + A121 * A213 * A332 + A121 * 4232 * 4313
—121 * 4233 * A312 + A1pp * A211 * 4333 — A122 * 4213 * @331 — A122 * A231 - 4313 + 122 - (233 * 4311
—A123 * A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * 232 * A311 + A131 * 4212 * A323
—A131 * A213 * A3 — A131 * A222 * A313 + A131 * A223 * A312 — A132 * 4211 * @323 + A132 * A213 * A321
+a132 * Apo1 * A313 — A132 * A223 * A311 + 4133 * A211 * A322 — A133 * A212 * 4311 — A133 * A221 * 4312

+133 + A0 + Az11} + (@111 - A0 - b3z — @111 * A3z * D3pz — A1 - Anos - bazp + 111 - A233 * b3y
=112 * A1 - bazz + 112 - (203 * baz1 + A11p - 4031 - bzos — 112 - Aa33 * b3y + A113 - A1 - baso

—a113 * A2 * b3z — @113 - A231 * Dapo + 4113 - A3 - b3oy — @121 - G212 * D3z + A1p1 - 4213 - baso
+a121 * A232 + b313 — @121 - Ax33  b31p + @122 411 - bazz — A2p - (213 + b3zt — A1p0 - 231 - b1z
+a122 - A233 - b311 — @123 - A211 * bazo + A123 - A212 - baz1 + @123 - (231 - D312 — A123 - A23p - b3
+131 + 212 - b3oz — 131 - A213 * D3o — @131 - A - b1z + @131 - G203 - b31o — A132 - An11 - baos
+a132 + 213 - bo1 + @132 - G201 - D313 — A132 - A3 - b311 + @133 - (211 3o — A3z - 4212 - b

—133 + 01 * ba1o + @133 * A2pp - b311}
while,
a1 a121 131
det[Aszxaxs + Baxsxz] = det ao11 o 31

a311 + b3 asp + bspr asz + baa
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a2 a122 a132 a113 a123 a133
az12 a2 a232 a213 a3 a233
A312 + bz A3 + baoy  A3sp + basp [A313 + D31z asps + baps  aszs + bsss

= ay1 - Az - (333 + b3sz) — a1 - Aozp - (323 + bas) — ann1 - Azos * (@332 + bazz) + a111 - 233+ (A322 + b3n)
—a112 " A1 - (@333 + b333) + A112 - (223 * (@331 + b331) + a112 - Aoz1 - (323 + D3p3) — dn12 - A3z - (A321 + b3n1)
+0a113 - A1 - (@332 + b3z2) — A113 - (220 * (@331 + b331) — A113 * Aoz1 - (322 + Danz) + 113 - A3z - (@321 + b3n1)
—121 " G212 + (@333 + b333) + A121 - (213 * (@332 + b332) + @121 * Aoz - (313 + D313) — 121 - A233 - (@312 + b312)
+a12 - A211 - (@333 + b3z) — A122 - (213 * (@331 + b331) — @122~ Ao31 - (313 + D313) + A1z - A233 - (@311 + b3nn)
=123 - Az11 - (@332 + D332) + @123 - G212 - (A331 + b3z1) + d123 - Ao31 - (@312 + b312) — 123 - 4232 * (@311 + b311)
+a131 - 1o - (@323 + D323) — @131 - (213 - (322 + b322) — Au31 - Ao~ (@313 + b313) + 131 - 203 - (@312 + b312)
—a132 - 11 * (@323 + D323) + @132 - G213 - (321 + b3o1) + duz - Aoo1 - (@313 + b313) — A132 - 203 * (@311 + b311)
+a133 - A211 + (@322 + b3z) — A3z - Az12 - (@311 + b311) — @133~ Ag01 - (312 + D312) + a133 - A2z - (@311 + bany).
Hence,
det[Asxsxs + Baxaxal = @111 - 4220 - G333 + A111 * @202 + b3z — @111 - Ap32 * A3p3 — (111 * A3 * b3z

—a111 * (203 * A332 — 111 - A3 - b3zo + A111  Ap33 - Az2p + A111 * A233 * D3po — (112 - A1 - A333

—a112 * A1 - bazz + @112 - (203 * A331 + Aq12 + 203 - baz1 + @112 - A231 - A3p3 + 112 - (231 * bans

—a112 * 233 * A321 — A112 * A233 * b3p1 + 113 - Ax01 * A3 + A113 * A1 - b3zp — 113 - Ao * A331

=113 * A0 * bz1 — (113 * Ax31 * A3pp — A113 + (231 * 3o + A113 * A3y - 301 + (113 - G232 * D3y

—121 + A1 * A333 — A121 * A212 - b3zs + @121 - (213 * A330 + An1 - A3 - bazp + (121 * A232 * 4313

+a121 + A3 - b313 — 121 * (233 * A312 — A121 + A233 * b31o + 120 - A211 * A333 + A1 - Ap11 * bass

122 + 13 * A331 — @122 * A213 * D331 — A1 - Ap31 * A313 — A122 * A231 - b1z + 122 - (233 * A311

+a122 + 233 + b311 — 123 * Ax11 * A332 — A123 - (211 * bazo + @123 * Ao1p - A331 + (123 - A212 * b3z

+a123 - 231 * A312 + A123 * A231 - b312 — @123 + (232 * A311 — G123 - Az3p - b1 + A131 * A212 * A33

+a131 + 212 - b3oz — 131 A213 * A300 — A131 - A13 - b3on — (131 A200 * A313 — A131 - A2 * bai3

+a131 - A3 * A312 + A131 * 4203 - D312 — @132 - (211 - A303 — A132 * Ao11 - bos + 13 - (213 * A3

+a132 - A3 - baoy + 132 - Ax01 - A313 + A132 - Ax01 - U313 — Q132+ A3 - A311 — @132 - A203 * b3y

+a133 - 11 - A3 + A133 * A211 - b3op — 133 - (212 - A311 — A133 - A212 - b311 — @133 - A201 * A312

—133 - A1 - bain + (133 - A200 - A311 + 133 - A2 - D311
If we compare results of above equations, we can see that we have the same result in both cases.

2. For plani = 2: Let A and B be cubic-matrices of order 3, where all elements on the plani =1
and i = 3 are identical in both matrices, then we have:

a1 4121 4131|4112 4122 4132 (@113 4123 4133
det[Asxsxs] + det[Bsxaxs] = det| a1 a221 aoz1|d212 G20 232 |A213 Ax3  A233
az11 a3z1 a331(4312 4322 0332 (A313 4323 4333

ai111 4121 4131|4112 4122 4132 (4113 4123 4133
+det| by b bozi|ban bop bosp b2z bz boss
az11 asp1 A331|4312 A322 3321|4313 @323 4333

= {a111 * G200 - A333 — A111 * A232 * A3p3 — A111 * (203 * A3z + 111 * 4233 * A3 — A112 * (201 * (333
+a112 * A3 * A331 + A112 * 4231 * A323 — A112 * 4233 * A321 + A113 * 221 * 332 — A113 * A222 * 4331
—a113 * 231 * A3p2 + A113 * A232 * A321 — A121 * A212 * A333 + A121 * 4213 * 332 + A121 * A232 * 4313
—a121 * A233 * A312 + A122 * A211 * A333 — A122 * A213 * A331 — A122 * (231 * A313 + A122 * A233 * 4311
—a123 * A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * 232 * A311 + A131 * A212 * A323
—a131 * A213 * A3p2 — A131 * A222 * A313 + A131 * A223 * A312 — A132 * A211 * @323 + A132 * A213 * A321

+a132 * A1 * A313 — A132 * A203 * A311 + A133 * A211 * A322 — A133 * A212 * A311 — A133 * 4221 * 312
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+a133 - An - Az11} + (@111 - b - 333 — 111 boso  A303 — @111 - bz - Azzp + A111 - boss - Az
—112 - b1 - zzz + G112 - boos - A3z + A1z - boz1 - Aoz — 112 - bosz - A3 + A113 - Dot - a33:
—a113 * bop - 331 — @113 - bos1 - A30 + A113 - bozp - A1 — @121 - bona - A333 + A121 - b1z - az3n
+a121 - bazp - 313 — @121 - bosz - A312 + Q120 - bor1 - 333 — @122 - byiz - A331 — A120 - Dot - a313
+a122 + b3z - 311 — @123 - bor1 - A3z + A123 + bo1p - 331 + @123 - bysi - A310 — 4123+ bozp - Az
+a131 + bo1p - G303 — @131 - bo1z - A30 — @31 - bonp - 313 + @131 boos - A310 — A3z + Doy - A3
+a132 - b1z - o1 + 13 - boot - 4313 — A13p - Doz - Az11 + @133 - by - A3 — dizz - born - azn

—a133 - bop1 * A312 + A133 - by - 4311}

while,
a111 a121 131
det[Asxaxs + Baxaxa] = det|azin + b1 a1 + b1 ans1 + bosi
as11 321 331
a112 122 132 a113 123 133
212 +bo1p o0 + Doy Az + boso |A213 + o1z G203 + bz g3z + boss
a312 322 332 a313 323 333

= ay11 - (A2 + bp) - A333 — a1 - (G232 + bosp) - 323 — 111 - (@223 + bon3) - A3z + a111 - (A233 + D233) - Az
A1 + bygy) - Azsz + ar12 - (223 + ba23) - A331 + A1z - (@231 + bazt) - A3 — A112 - (4233 + bo33) - azn
A1 + bygy) - Az3p — 113 * (222 + ba22) - 331 — A1z - (@231 + bazy) - Azon + 113 - (4232 + b232) - A3
—a121 * (212 + D212) - 333 + A1 - (@213 + b213) * A33p + @121 - (G232 + bo3p) - A313 — 121 - (A233 + b233) - azn2

—a112 - (
(
(
+a1 - (a211 + bo11) - A333 — @122 - (G213 + b213) - 4331 — A2 - (G231 + bo31) - 313 + 122 - (@233 + bas3) - A311
(
(
(

+aq13 -

11 + bo1y) - A3z + 123 - (A212 + ba12) - A331 + A1z - (A231 + baz1) - a1z — A123 - (4232 + b232) - A311
212 + bo12) * A3p3 — Ay31 - (4213 + D213) * A300 — Ay31 + (4222 + Donp) * 4313 + A1 - (4223 + Don3) - 4312
ax11 + bo1y) - a3z + 132 - (A213 + b213) - Az + duzp - (G221 + Doo1) - 4313 — A3z - (@223 + bon3) - A3n

+a133 - (211 + ba11) - 320 — Ay33 - (A212 + bo12) - a311 — @133~ (@221 + b2o1) - A312 + 133 * (G222 + D222) - 311
Hence,

—a123 °
+a131 -

—d132 °

det[Asxaxs + Baxaxa] = @111 * 4200 - 333 + @111 - by - A333 — A111 * 4232 - A323 — A111 * boso - A3p3
—a111 + 03 * A332 — A111 * Doo3 + A33p + 111 - (233 A300 + A11 - boz3 - o0 — 112 - A2p1 * A333 — An12 - by - (333
+a112 + A3 - A331 + A112 * bop3 - A331 + A112 - Ap31 - A33 + A112 * Dozt - A3z — 112 - (233 A31 — A1z - bosz - Az
+a113 + A1+ A332 + A113 * oot - 4330 — 113 + Azo0 * A331 — A113 + Doy - 331 — 113 - Ap31 * A3pp — A113 - bzt - Az
+a113 + A3 + A3y + A113 * Dozp - A3p1 — 121 - Az12 - A333 — A1+ bo1p - 333 + (121 (213 * A3 + 121 - b1z - A3z
+a121 + A3 + A313 + A121 * bozp + 4313 — 121 - (33 A312 — A1+ b3z - 312 + @120 - G211 * A333 + A12p - bo - 333
—12p * 213 * A331 — Q122 * D213+ A331 — A1 - (231 * A313 — A12p * Doy + 313 + @12 - Ap33 * A311 + A12 - b3z - Az
—a123 + (11 * A332 — A123 * Do11 * A33p + @123 - Ap12 * A331 + A123 + Do1p - 331 + @123 - Ap31 * A312 + 123 - bzt - az12
—a123 * 3 * A311 — A123 * Dozp ~ 4311 + 131 - Ap12 * A3p3 + Ay31 - bo1p - 303 — @131+ A213 * A3pp — 131 - b1z - A3
—131 - A0 - A313 — @131 * Dooo - A313 + 131 - (203 - A312 + A131 - boos - 312 — @13 - A211 * A303 — @132 - bo11 - (303
+132 - A3 - 321 + @132 - bo1z - Azp1 + Aazp - Axo1 - A313 + A132 - Dot - 313 — @132 - (203 * A311 — A132 - bz - Azn
+a133 - A1 - A3 + A133 * bo11 - A3pp — 133 - (212 A311 — G133 - bo1p - 311 — 133 - A2p1 * A312 — A133 - bt - G312
+a133 - An - A311 + A133 * bano - A311
If we compare results of above equations, we can see that we have the same result in both cases.

3. For plani = 3: Let A and B be cubic-matrices of order 3, where all elements on the plan i = 2
and 7 = 3 are identical in both matrices, then we have:

a111 4121 A131|4112 A122 4132|4113 4123 4133
det[Asxsxs] + det[Bsxsxs] = det| do11 a1 aAps1|d212 G20 G232 |[A213 4223 233

az11 Aaszz1 4331|4312 4322 0332 (A313 4323 4333
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bin b bimfbiz bie bz |biiz bz biss
+det| a1 a1 ax31|A212 Ap Ap3p |A213 A3 (233
az11 asp1 A331|4312 A322 3321|4313 @323 4333

= {a111 - Az - Az33 — A111 * A32 * A303 — A111 * (203 * Azzp + A111 * A233 * A3p0 — A112 * (201 * A333 + A112 * A223 * A331
+a112 - 4231 * A323 — A112 * @233 - A321 + A113 - G221 * A332 — @113 * A2z * (331 — A113 * A231 * A322 + A113 * 232 * A321
—A121 - 4212 * @333 + A121 * A213 - A332 + 121 - (232 * A313 — A121 * 4233 * 312 + A122 - A211 * 4333 — A122 * 4213 * A331
—A122 - 4231 * @313 + A122 * A233 - (311 — A123 - A211 * 4332 + A123 * A212 - A331 + A123 - A231 " A312 — A123 " 4232 * A311
+a131 - 4212 * @323 — A131 * 4213 - 322 — A131 * G222 * 4313 + A131 * A223 * A312 — A132 * A211 " A323 + A132 4213 * A321
+a132 + A1+ A313 — A132 * A203 * A311 + 133 * Ap11 * A300 — 4133 * A212 * A311 — A133 * A1 * A312 + (133 * (220 * A311}
+{b111 - a200 - A333 — D111 - A3 - (303 — 111 - G203 * A332 + D111 - 4233 - 320 — b112 - Azo1 * A333 + D11o - A3 - A3
+b112 - A031 - 323 — b112 - G233 * A3p1 + D113 - A1 - (330 — b113 - G200 * A331 — D113 - 4231 - 320 + b113 - G232 - A3
—b121 - 212 - (333 + b121 - A213 - A332 + D1o1 - A3 - 313 — b121 - G233 - 4310 + D1oo - 4211 - A333 — 1o - (213 - A331
—b12p - G231 - 313 + b1oo - Ap33 - 4311 — b1o3 - A211 - (332 + Doz - (212 * 4331 + b1g3 - 4231 - A312 — bios - Aazp - Az
+D131 + 212 - 323 — b131 - G213 * A3pp — D131+ A0 - (313 + D131 - G203 * 4312 — D13p * Ao11 - 33 + b1z - (213 * A3p
+Db132 * A1 - 313 — b13p - (203 * A311 + D133 - 411 - 320 — bi33 - Ap12 4311 — D133 - A1 - 312 + biss - Axpo - 4311}

while,
M+ b s+ b mz; + b

det[Asxsxs + Baxsxs] = det| a1 a1 31
as11 a3 a331

A2 + b1 Ao+ bin @iz + basz |13 + bz a1z + bixs a1z + biss
ar12 a2 a232 a213 a3 a233
az12 az22 az3z a313 a323 a333

= (a111 + bin1) - 4022 - a3z — (@111 + b1n1) - G232 - 33 — (@111 + D111) - 203 - A3z + (@111 + binn) - 4233 - A3
—(a112 + D112) - A201 - A333 + (112 + b112) - Ao03 - 4331 + (@112 + b112) - 4231 - 4323 — (@112 + D112) - G233 - A3
+(@113 + b113) - azo1 - azz — (a113 + b113) - A0 - A331 — (A113 + b113) - A231 - Az + (a113 + byus
—(@121 + b121) - A212 - azz3 + (@121 + b121) - 213 * Azzp + (@121 + biz1) * 4232 - A313 — (@121 + b1y
+(@122 + b122) - a211 - azzz — (@122 + D122) ~ 213 - A331 — (@122 + b122) - A231 - A313 + (@122 + D122

) - 232 * A321
) -
) -
—(a123 + b123) - A211 - (332 + (@123 + b123) - Ao~ 4331 + (@123 + b123) * 231 * 312 — (@123 + D123) - 232 - A311
) -
) -
) -

233 * (312
233 * 4311
+(@31 + bi31) - a212 - a3 — (@131 + b131) - a3 - Az — (@131 + bizy) - 4222 - A313 + (@131 + b131) - A203 - 312
—(@132 + i) - A211 - A3p3 + (@132 + bi32) - A213 - A301 + (@132 + bis2) - Ao01 - 4313 — (@132 + bixp
+(a133 + b133) - 211 * 4300 — (@133 + b133) - 12 - A311 — (@133 + D133) - Az01 - A312 + (133 + b33
Hence,

a23 - A311
a2 4311

det[Asysxa] + Baxaxal = 111 - G220 - A333 + D111+ G200 - 333 — @111 - (232 * A303 — D111 - A3 - (323
—a111 - A3 - A332 — b111 - A203 - A3z + A111 - (233 - A300 + D111 - A233 - A320 — 112 - A2p1 * A333 — D112 - A1 - (333
+0a112 + A3 * A331 + D112+ A2p3 * A331 + 112 + Ap31 * A3p3 + Dy1o * Ao31 - A303 — (112 Ap33 * A3p1 — D11p - 4233 - A3
+a113 + A1 + A332 + D113 Aop1 - A33p — A113 + Azo0 - A331 — D113+ App - 331 — (113 * A231 * A3pp — D113 - 231 - A3
+a113 + A3 + A3y + D113 Ao3p - Azp1 — 121 + Az12 * A333 — Dip1 * Ao1p - 333 + (121 - A213 * A33p + Doy - 213 - A3
+a121 - A3 - A313 + b1o1 + A23p - A313 — 121 + (233 * A312 — Dio1 * G233 - 312 + @122 - Ap11 * A333 + D1og - o171 - A333
—122 + A3 - A331 — b1+ A213 * A331 — A122 - (231 * A313 — D1oo * Ao31 - A313 + 122 - (233 - A311 + Dioo * o33 - 31
—123 - 11 - A332 — b1o3 + A211 - A33p + 123 - Az12 - A331 + D1o3 * A1p - 331 + (123 - A231 * A312 + D123 - 4231 - A312
—123 - A3 * A311 — b1o3 * Aazp - A311 + A131 - (212 * A303 + D131 - 412 - 303 — 131+ A213 * A300 — D131 - 4213 - A3m
—131 - A0 - A313 — D131 - G200 - A313 + A131 - (203 - A312 + D131 - A3 - 312 — @132 - A211 * A303 — D13o - Ao11 - (323
+a13p + 213 * A321 + b1z - A213 * Azp1 + 13 - Azo1  A313 + Dyzo - Aoy - 313 — @13+ A2p3 * A311 — D13z - A3 - A3
+a133 + 11 A3 + D13z Ao11 - Azpp — 133 + Az12  A311 — D133+ Ao1p - 311 — @133 A2p1 * 4312 — Disz - A1 - Az12
+a133 + A0) - A311 + b133 - A2 * 4311

If we compare results of above equations, we can see that we have the same result in both cases.
6



4. For plan j = 1: Let A and B be cubic-matrices of order 3, where all elements on the plan j = 1
and j = 2 are identical in both matrices, then have:

= {a111 - A2 - 333 — (111 - A232

+ai12
—a121
—122
+a131
+a132
+Hain
+a112 -
—a121
—122
+b131
+biz
while,

det[Aszyaxs + Baxsxs] = det| a211

det[Asxsxs] + det[Baxaxs] = det| a1

231
*d2
231
212

a1

* 222

b231

*a212 ¢
“boz
* 212
*d

"33 — 112
a3z + d121
*a313 + 122 -
" d33 — 0131
*a313 — 132 *
“b3zz —aimn
323 — 0112
bsss + a1
a313 + 4122
“a33 — biz
a3z — bz -

a1 41z
+ det ar11
s dsn
(323 — 111
33 * A3p1 + 113
213 4332 t 4121
233 * 311 — 0123 *
* 213 * A322 — A131
A3 - A311 t 4133
“bazp - az3 — A
»bos3 - azp1 + ans -
- 213 - b3zp + a1
»bos3 - az11 — aios -
- 213 - Az — b1zt
A3 - z11 + bizs -
a111 4121
a1

az11 4321

ai11 4121 4131|4112 4122 4132 (@113 4123 4133

A1 231|212 d222 @232 |A213 @223 (233

az11 Aas3z1 a331|d312 4322 0332 (A313 323 4333
bizi|a112 @1 bizp (a1 41z biss
bosi|a212 G bosp |A213 A203  boss
bssi|asi2 aszn bax|asiz aszs  bass

A3 * A332 + A111 * A233 * A3 — A112 * A1 * 4333 + A112

a1 * 332 — A113

+ 32 * d313 — A121

Ax11 * 4332 + A123

Az + A313 + A131
* 11 * A322 — 4133 *
“ A3 - b3y + a1

A1 - bszy — A113

“bysp - A313 — M1

211 - bz + A123

-y - A313 + b1zt

11 - 322 — bz -

*d0 ¢
233
iV
* a3 ¢

an12 -

- bass
*d0
“ bass -
RPAV
a3

an12 -

331 — a3 -
az12 + a1 -
a3 + a3 -
asz12 —a132 -
311 — d133
* a3 — d112
b3z — a3 -
as12 + a1 -
bsz1 + 123 -
- 312 — biz -
az1 — bizs -

31 * A3p2 + 113
az11 - 333 — 0122 *
231 * A312 — 0123 *
az11 - A3z + a1z
A1 * A312 + 4133

-y - b3sz + a112

bps1 - Az + a1z -
a1 - bzzz — a1 -
bysi - Az1p — A123 +
a1 - Azs + biso -
A1 - az12 + bizs -

" 223 * 0331
(232 * A321
213 * 4331
232 * A311
as3n1
az11}

“ 03 b3z

a3 *
a0 -
basy - a3
213 - baz
basy - azin
a321

a311}

a3 *
ao -

Mz + bz | a2 G a1z + biz (A3 A1z G133 + biss
Ay + bozi| a2 Aoop Aoz + Do |A213 Axs  Ap33 + boss
A331 + b3z1|az12 Az sz + bax [A313 azps aszs + bsss

= aq11 - A0 - (333 + b333) — 111 - (G232 + boso) - A303 — 111

—a112 °
+a113 -

—a121

—0123 *
+(@131 + b131) - A212 - az23 — (@131 + b131) -
—(@32 + b132) - A211 - az3 + (@132 + bi3z) -
+(a133 + b133) - A211 - Az — (a133 + D133) -

=1
+ain
+ai1p
—0113 *
—1121
—a121
—122
+a123 -
+ai31
+a131

—a133 *

+ 4212
+aqo -

* 2 -
" 1233

231

ao -
/AN
* 1233

331

an12 -
- 33 + b1z
“as1p + b1z

212
* 4223
+ay32 -

a1

a1
a1

a1
a1

a2 -

* (@333 + b3s3) + a1z -
*(asz2 + b3zp) — a113 -
+ (@333 + b333) + ain
+ (@333 + b3s3) — @120 -
- (@332 + b3zp) + 123 -

a333 + aq11

Az + a111
* A3z +a112 ¢

a331 — 4113
a333 — 121

* 312 — 121
* 313 — a1 -

a3z + a123

-as13 + i -

az1 — biss

“ 03+ (332 + bazn) + 111 - (A233 + b2s3) - asm

A3 - (a331 + b331) + a112 * (@231 + baz1) - A3p3 — a112 * (G233 + boss) - asm

A2 * (a331 + b331) — a1z - (@231 + baz1) - Azon + A113 - (4232 + boso) - A3

“a3 - (332 + b3zp) + a121 - (232 + b23z) - 313 — A1 - (A233 + bas3) - a3z

213 - (A331 + b331) — A122 - (A231 + b31) - A313 + A122 « (A233 + bas3) - 31

12 -+ (331 + b3a1) + an23 - (231 + b231) - az12 — @123 + (4232 + bo32) - A311

213 + Az — (@131 + b131) * Axn - Az13 + (@131 + b131) - 423 - az12

a3 - Az1 + (@132 + b132) - A1 - 313 — (@132 + b132) - (203 * A311

12 - Az11 — (@133 + b133) * A1 - 312 + (@133 + b133) * doxp - 31
“ Ay - b3zz — 111 - Ax30  A3p3 — A111 - bazp - Aoz — 111 - A203 * A332 — A111 - 203 - bax
“ b33 - A3pp — 112 - Ax01  A333 — A112 * A1 - b3zz + 112 - (203 * A331 + A1p - Doz - azz
basi - 323 — (112 * A33 * A1 — A112 - bosz - A3 + A113 * A1 - Azzp + (113 - A201 - D3
“ Ay + b3z1 — 113 - Ax31 A3 — A113 * Doz1 - Azpp + A113 - Ap3p - A3p1 + A113 - bozp - Az
“ 212 - bazz + 121 - (213 - A3 + Q121 - A213 - bagp + 121 - A2z - A313 + A121 - bz - G313
“baz3  a312 + A1 - Ap11 - A333 + A120 * Ao11 - b3zz — A1 - (213 * A331 — Ao+ A213 - b3z
bosi - 313 + (120 * G233 - A311 + A122 - bosz - A311 — A123 * A211 - A3z2 — A123 * A211 * D3
“ 212 + b3z + 123 - (p31  A312 + A123 * Dozt - 4310 — @123 - Ap3p - A311 — A123 + b3y - Az
“A212 * A303 — @131 * A213 * 322 — D131 - (213 * A300 — @131 * A0 * A313 — b131 * A2 - A313
A3+ 312 — @13 * A211 * @323 — D13p * Ao11 - (303 + (132 * A213 + A1 + Dazp - A3 - A3;
A1 + 313 — @13 * (223 * A311 — D132 * A3 - (311 + @133 - Ap11 * A3pp + Di33 - Ao11 - A3
“A212 + 311 — @133 * A221 * A312 — D133 - A1 - Az12 + (133 * A2p0 - A311 + basz - Axon - A311

If we compare results of above equations, we can see that we have the same result in both cases.
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5. For plan j = 2: Let A and B be cubic-matrices of order 3, where all elements on the plan j = 1
and j = 3 are identical in both matrices, then have:

ai11 4121 4131|4112 4122 4132 (@113 4123 4133
det[Asxsxs] + det[Bsxaxs] = det| a1 a221 ao31|d212 @20 230 |A213 A3 233
az11 Aas3z1 a331|d312 4322 0332 (A313 323 4333

a1 b am|aie b @iz |ais b aiss
+det| a1 bmi ami|axn2 ban adam|a2is bz ams
azi1 bxpi azn|asiz bsn Gz |asiz baxs asss

= {a111 - An - (333 — A111 * G232 * A3p3 — 111 * A203 * A332 + A111 * A233 * A3p2 — A112 * A1 * A333 + A112 * A203 * A331
+a112 - 4231 * A323 — A112 * @233 - A321 + A113 - A221 * A332 — A113 * A2 * (331 — A113 * A231 * A322 + A113 * 4232 * A321
—a121 * A212 * A333 + A121 * A213 * A332 + A121 * (232 * 4313 — A121 * A233 * A312 + A122 * 211 * @333 — A122 * A213 * 4331
—A122 - 4231 * @313 + A122 * A233 - (311 — 4123 * A211 * A332 + A123 * A212 * 4331 + A123 - A231 * A312 — A123 * 4232 * A311
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * (222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * 4321
+a13p + 01+ A313 — A132 * A3 * A311 + (133 * Ap11 * A3p2 — 4133 * 212 * A3p1 — A133 * A1 * A312 + (133 * (220 * A311}
+a111 - bano - A333 — A111 - G232 - baos — A111 + baos ~ A3z + A111 - 233 - bazy — @112 bogy + 4333 + 4112 - boos - A3
+0a112 - 4231 * bapz — @112 * A3z + bap1 + a1z - boot - Azzp — @113 - bogo * 4331 — 4113 - 231 - b3y + 113 - A23p - D3y
—b121 - 212 - G333 + b121 - A213 - A332 + D1o1 - A3 - 313 — 121 - G233 - 4312 + D1oo - 4011 - A333 — b1oo - (213 - A331
—D12p + 231 - (313 + b1 - Ap33 * 4311 — D123 - Ao11 - A33p + D123 - G212 * A331 + D1o3 - 4231 - 312 — bios - Aoz - A311
+a131 - G212 - baos — 131 A213 - b3np — @131 - b - (313 + (131 * boos * 4310 — @132 - o171 - bz + (132 - 4213 - ban
+a132 - b1 - 313 — @132+ boos + A311 + @133 - 11 - bz — (133 A21n * A3p1 — 133 - booi - Az12 + A133 * bono - 311}
while,
a1 A1 + b dz|ae G + b @im|dns a4z +bis @i
det[Asxsxs + Baxaxa]l = det| azi1 o1 + by Go31|d212 200 + boyo 233 [A213 (203 + Doz 233
azi1 A1+ b1 43332 Az + b3 a3z |dzi3 a3 +bas asz
= ay11 - (G222 + o) - A3z — A1 - Ao3p - (A323 + b33) — anny * (@223 + bop3) - A3z + a111 ~ 233 * (A322 + b3n)
—a112 + (A221 + boo1) * 4333 + @12 - (G223 + D2p3) * A331 + A112 - 4231 - (A323 + b3p3) — A112 * 4233 - (A321 + b31)
+a113 - (A221 + b2o1) - A330 — A113 - (A222 + bano) - 4331 — A113 - An31 - (@322 + b322) + 4113 - 4232 - (A301 + b31)
—(@121 + b121) - A212 - azzz + (@121 + b121) - 213 - A3z + (@121 + bizy) - 4232 - A313 — (@121 + b121) - G233 - A312
+(@122 + b122) - A211 - 333 — (@122 + D122) - 213 * 4331 — (@122 + b122) ~ Ao31 - A313 + (@122 + b122) - G233 - 311
—(@123 + b123) - A211 - a3z + (@123 + D123) - 212 - A331 + (@123 + b123) - A231 - A312 — (123 + b123) - 232+ A311
+a131 - A212 - (@323 + b33) — Au31 - (213 - (@322 + b322) — @131 * (@222 + b222) - A313 + 131 - (223 + D223) - a3z
—132 * Az11 * (@323 + D323) + @132 - (213 - (321 + b321) + duzp - (201 + bon1) - 313 — A132 * (@223 + bn3) - A311
+a133 - A11 + (@322 + b3po) — A3z - 212+ (@321 + b321) — @133+ (@221 + bo21) - A312 + 133 - (G222 + ban2) - 311
= 111 - Ap00 - A333 + A111 + Doy - 333 — @111 - Aoz * A303 — A111 - A3 - boz — (111 A203 * A332 — 111 - boos - A3
+a111 + @233 * A3 + A111 * A233 * b3pp — A112 - Ax01 - A333 — A112 * Doo1 - 4333 + 112 - (203 * A331 + A1p - Doz - azz
+a112 - @231 A33 + A112 - A231 - b3pz — A112 - (233 * A31 — A112 - A233 - bo1 + 113 - Aop1 * A3 + A113 - by - A3
—a113 * A2 * A331 — A113 * Dopo * A331 — A113 - (231 * A320 — A113 * A231 - b3op + 113 - Ap3p - A3p1 + A113 * A3 - b3y
—a121 - 212 - A333 — D121 - G212 - A333 + A121 - (213 * A332 + Dio1 - 4213 - Azzp + 121 - A2z - A313 + b1o1 - A3 - G313
—121 + 233 * A312 — D121 G233 * A312 + A12p - Ap11 * A333 + Digo * Ao11 - A333 — 122 - (213 * A331 — bigo * 4213 - A331
—122 - 4231 * A313 — b1oo G231 - A313 + A122 - (233 - A311 + Dioo * 4233 - A311 — (123 - A211 * A332 — b1o3 - 011 - G332
+a123 + A2 - A331 + b1o3 - A210 * A331 + A123 - 231 - A312 + D1o3 - A31 - A312 — @123 + Az32 + A311 — bin3 - A3y - Az
+a131 + 12 * A33 + A131 * A212 * b3pz — 131 - (213 A30 — (131 * A13 * b3op — @131+ Axpo * A313 — 131 + booo - (313
+a131 - A3 + Az12 + @131 * bon3 - 4312 — A13p - Ap11 - A303 — A132 * Ao11 - baos + 13 - (213 - A3p1 + Au3p - A213 - by
+a13p + 01+ A313 + 4132 * Dop1 - 4313 — @132 - (203 A311 — A3p * Doz - 311 + @133 - Ap1q - A3pp + 133 - Az11 - b3
—133 * 212 * A321 — 133 * A212 * b3p1 — @133 - Axo1 - A312 — A133 * Dot ~ 4312 + @133 - 200 * A311 + A3z - boxy - A311

If we compare results of above equations, we can see that we have the same result in both cases.
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6. For plan j = 3: Let A and B be cubic-matrices of order 3, where all elements on the plan j = 3
and j = 3 are identical in both matrices, then have:

ai11 4121 4131|4112 4122 4132 (@113 4123 4133
det[Asxsxs] + det[Bsxaxs] = det| a1 a221 ao31|d212 @20 230 |A213 A3 233
az11 Aas3z1 a331|d312 4322 0332 (A313 323 4333

bin @1 @mzi|bie 4 @ix bz Az aiss
+det| boi1 am1 ami|buz dxm a3 b2z axms axs
bsi1 asy aszi|bsiz asp azn|bsiz sz asss

= {a111 - An - (333 — A111 * G232 * A3p3 — 111 * A203 * A332 + A111 * A233 * A3p2 — A112 * A1 * A333 + A112 * A203 * A331
+a112 - 4231 * A323 — A112 * @233 - A321 + A113 - A221 * A332 — A113 * A2 * (331 — A113 * A231 * A322 + A113 * 4232 * A321
—a121 * A212 * A333 + A121 * A213 * A332 + A121 * (232 * 4313 — A121 * A233 * A312 + A122 * 211 * @333 — A122 * A213 * 4331
—A122 - 4231 * @313 + A122 * A233 - (311 — 4123 * A211 * A332 + A123 * A212 * 4331 + A123 - A231 * A312 — A123 * 4232 * A311
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * (222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * 4321
+a13p + 01+ A313 — A132 * A3 * A311 + (133 * Ap11 * A3p2 — 4133 * 212 * A3p1 — A133 * A1 * A312 + (133 * (220 * A311}
+{b111 - A200 - A333 — D111 - A3 - (303 — 111 - G203 * A332 + D111 - A3z - 320 — b11a - Azo1 * A333 + D11n - A3 - A3
+D112 + 231 - (323 — 11 - Ap33 * A3p1 + D113 - A1 - Azzp — 113 - Aopo * 4331 — D113 - 4231 - 320 + b1as - a3 - A3p
—a121 - bo1p - (333 + 121+ bo13 - A3z + @121 - o3 - b1z — (121 + 4233+ b31o + @120 - bo11 - G333 — @122 - o1z - A3z
—12p - 231 * b313 + @120 * A33 - D311 — A3 - bor1 - Azzp + @103 bo1o * 4331 + An3 - Ag31 - baip — @123 - A2z - b3n
+a131 - bo1p - 303 — 131 - bo13 - G300 — @131 - Aon - b3z + (131 - 4203 - D310 — @132 - boi1 - Az3 + (132 - bo1s - az;
+a132 + A1 - b3z — @132 - A203 * D311 + Auzz - bort - Az — @133 bo1o - A3p1 — A3z - Anoi - barp + 133 - A2+ D311}
while,
a1+ b a1 @z|de b A @im|dis + bz 4 @i
det[Asxaxs + Baxsxs] = det| az11 + boin a1 aps1|Gzi2 + by Gz a3 |A213 + b1z A3 ao33
azi1 + b1 Az azsi|azi2 +b3ip asp Az |1z +baiz a4z asss
= (@111 + binn) - 422 - a3z — (@111 + b1n1) - G232 - A3 — (@111 + bai1) - @03+ A3zp + (@111 + binn) * 4233 - A3
—(@112 + b112) - a221 - 33z + (112 + D112) * 4203 - A331 + (@112 + b112) - A231 - A323 — (@112 + b112) - (233 * A321
+(@113 + b113) - a201 - azzp — (@113 + b113) - A2 - Az31 — (A113 + b113) - A231 - Az + (@113 + b113) - 232 - A31
—a121 - (A212 + b212) * 4333 + A1 - (4213 + D213) * A3z + A1 - A3 - (@313 + b313) — A121 * 4233 - (4312 + D312)

+a122 - (211 + ba11) - 333 — A2z - (A213 + b213) - A331 — @120 * 4231 - (313 + D313) + 122 - A233 - (@311 + b3nn)
—a123 - (211 + b211) - 332 + A123 - (A212 + b212) - A331 + @123 * 4231+ (312 + D312) — 123 - A3z + (4311 + bann)
+a131 - (212 + D212) - 323 — @31 - (A213 + b213) - A3p2 — @131 * Ao - (313 + D313) + 131 - A223 - (@312 + b312)
—13 * (211 + ba11) - 303 + A3z - (A213 + b213) - A1 + @132+ A1 - (313 + b313) — Ayz - A203 - (4311 + bann)

+a133 - (A211 + bo11) - 4300 — A3z + (@212 + Do12) * A3p1 — A3z - A1 - (@312 + b312) + A3z * A - (a311 + b311)
= 111 - (200 - A333 + D111+ A20p - 333 — @111 - A232 * A303 — D111+ Ao3p - 303 — (111 A203 * A332 — D111 - A3 - A3
+a111 + @233 * A3 + D111 - A233 * A3pp — A112 - Axo1 - A333 — bi1o - Aot - A333 + 112 - (203 * A331 + Di1o - Az - A3z
+a112 - @231 * A33 + D112 - G231 - A3p3 — A112 - (233 * A301 — D112+ 4233 - A1 + (113 - A2p1 * A3 + D113 - A1 - A3
—a113 * A0 + A331 — b113 * G200 * A331 — A113 - 231 * A320 — D113 * Ao31 ~ Azpp + A113 - Ap3p * A3p1 + D113~ Ao3p - Az
—a121 - 212 - A333 — 121 * Do1o - A333 + 121 - (213 - A330 + A121 - b1z - Azzp + 121 - G232 - A313 + 4121 - A3 - bz
—121 + 233 * A312 — A121 * A233 * D312 + A12p - Ap11 + A333 + A120 * D11 ~ 4333 — 122 - (213 * A331 — A12p + b1z - azs
—122 - 231 * A313 — A122 * A231 - D313 + A1 - (o33 - A311 + G120 ~ A33 - b311 — (123 - A211 * A332 — A123 - bo11 - Az
+a123 + A1 + A331 + A123 * Do1o - 4331 + @123 - (Ap31  A312 + A123 * A231 - b31p — @123 - Ap3p - A311 — G123 * A3 - ban
+a131  A212 * 33 + A131 * bo1o * A3p3 — 131 * A13 * A300 — @131 * D213 - (300 — @131 - A2p0 + A313 — A131 - (222 * D33
+a131 + A3 + A312 + A131 * A223 * D312 — @132 - Ap11  A303 — A132 * D11 - A3 + 132 - (213 - A3p1 + A3z - boiz - Az
+a13p + 01+ A313 + 132 * A1 + b313 — A1z - (03 A311 — Ay3p * Aoz - b3yy + @133 - Ap1q * A3pp + 133 - bory - Az
—133 * 212 * A321 — @133 * Do1o * A3p1 — A133 - Ax01 - A312 — A133 * A1 - b312 + @133 - (o0 * A311 + A133 - Ao - ban

If we compare results of above equations, we can see that we have the same result in both cases.
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7. For plan k = 1: Let A and B be cubic-matrices of order 3, where all elements on the plank =1
and k = 2 are identical in both matrices, then have:

ai111 4121 4131|4112 4122 4132 (@113 @123 4133
det[Asxsxs] + det[Bsxaxs] = det| a1 a221 @oz1|d212 G20 232 |A213 A3 233
az11 Aazz1 a331|d312 4322 4332 (A313 4323 4333

11 M Mz |di2 G @iz bz bz biss
+det| a1 am1 1|22 Az Aoz |bns bz b
A311 A3 331|312 A3 332 |bsis Daxs bz

= {a111 - Az - Az33 — A111 * A232 * A303 — A111 * (203 * A3z + A111 * A233 * A300 — A112 * (201 * A333 + A112 * A223 * A331
+a112 * G231 * A323 — A112 * A233 * A321 + A113 * G221 * 4332 — @113 * A222 * @331 — A113 * 231 * A3p2 + 4113 * A232 * 4321
—A121 " A212 * @333 + A121 * A213 - A332 + A121 - A232 * A313 — A121 * 4233 * A312 + A122 * A211 * 4333 — A122 " 4213 * A331
—A122 - 4231 * A313 t A122 * A233 - (311 — 4123 * A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * 4232 * A311
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * (222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * A321
+a13p + A1+ A313 — A132 * A223 * A311 + 133 * Ap11 * A3 — A133 * 212 * A321 — A133 * A1 * A312 + (133 * (220 * A311}
+{a111 * A202 + b3zz — aq11 - Az3p - baps — A111 + baps - Azzp + Aq11 - basa - Az — A112 * Aop1 - basz + Aq12 - baos - A3z
+a112 - G231 - baoz — 112+ bass - A3p1 + D11z - A1 - A3zp — b1a3 - G200 - A331 — D113 - 4231 - 320 + b113 - G232 - A3
—121 - 212 * bazz + @121+ bo13 + A3z + @121 - 23 - b1z — @121+ basz - 4310 + @122 - o171 - bz — @12 - o1z - A3z
—12p - 231 * b313 + @120+ Doz - A311 — D1o3 - Ao11 - Azzp + D123 - G120 * 4331 + D1n3 - 4031 - 312 — b1os - Aoz - A311
+a131 - G212 - baos — 131 - o1z - A3pp — @131 - A - b3z + (131 - boos - 4310 — @132 - o171 - bz + (132 - o1z - Az
+132 - A1 - b3z — @132 - boos - Az11 + biss - 411 - A0 — b1z - 212 - A3 — bisz - 401 - 4312 + bazz - A - A311}
while,
A A1 @31|dz G2 sz (A3 + bus a4z + bz aizz + biss
det[Asxaxs + Baxsxz] = det| a1 a1 31|22 G a3 (@213 + b1z Az + bz a3z + bosz
Az A3y A331|A312 A3 332 @313 + b33 a3z + bz assz + basz
= ay11 - A2 - (333 + b3sz) — A1 - Aoz - (@303 + b3s) — a111 - (@23 + ban3) - A3z + a111 - (A233 + D233) - Az
—a112 - A1 - (@333 + b33a) + a1z - (A223 + D23) * A331 + Aq12 - 231 * (@323 + b323) — Aq12 - (@233 + Dos3) - d3zn
+(@113 + b113) - az01 - azzp — (@113 + b113) - A - Az31 — (A113 + b113) - A231 - Az + (@113 + b113) - 232 - 431
—a121 - 212 - (@333 + b3s3) + A1 - (4213 + D213) * A3z + @121 - 23 - (@313 + b313) — A1 - (4233 + bas3) - 4312
+a12p - Ay - (333 + b3z3) — Aon - (4213 + D213) * A331 — An2p - Ap31 + (@313 + b313) + di2p - (4233 + Dos3) - d3n1
—(@123 + b123) - A211 - sz + (@123 + D123) - 212 - A331 + (@123 + b123) - A231 - 312 — (123 + b123) - 232 * A311
+a131 - A1z - (@323 + b3o3) — An31 - (A213 + D213) * A300 — @131 - Ao - (@313 + b313) + A131 - (A223 + bon3) - A310
—13p - Ap11 - (@323 + b33) + Auzp - (A213 + Do13) * A3p1 + Au3p - Apo1 - (@313 + b313) — dazp - (A223 + Do3) - d3n1
+(a133 + b133) - 211 * A3pp — (@133 + b133) - G212 - Azp1 — (@133 + b133) - Az01 * A312 + (133 + b133) - (220 - A311
= 111 - (o002 * A333 + A111 - A2 - b3z — @111 - Aoz * A303 — A111 - A3 - boz — (111 - A203 * A332 — A111 - boos - Az
+a111 - @233 * A3p2 + A111 * Doz - Azpp — A112 - Axo1 - A333 — A112 * A1 - bzz + 11 - (203 - A331 + A11n - bz - azz
+a112 + 4231 A33 + A112 * 4231 + b3pz — 112 - Az33  A3p1 — A12 + b3z - A1 + A113 - Axp1 - A3z + Driz - Ay - a3z
—a113 - A0 - A331 — D113 - A200 * A331 — A113 - 231 A322 — D113 * Ao31 - Az0p + 113 - A232 * A301 + D113 - A3 - A3
—11 + 212 * A333 — A121 * A212 - b33z + 121 - (213 - A330 + A121 - b1z - Azzp + 121 - A2z * A313 + A121 - A3 - bz
—a121 + 233 - A312 — A121 * Doz 4312 + A1 - Ap11 * A333 + A120 * Ao11 - b3zz — 12 - (213 * A331 — A12p - boiz - azs
—12) * A31 * (313 — A122 * A231 * D313 + @120 * 233 - A311 + @122 * bos3 - (311 — @123 - A211 - 332 — bio3 - az11 * 433
+a123 - A1z - A331 + D123 - A210 * A331 + A123 - 231 - A312 + Dio3 - A31 - A312 — @123 - 232 - A311 — bins * Ao3p - 311
+a131 + A1+ A33 + 131 * A212 + b3z — 131 - (213 A30 — (31 - b1z - Azpp — 131 A2po * A313 — A131 - A - b3z
+a131 + 03 * A312 + A131 * Dop3 * 4312 — A13p + Ap11 - A33 — Ai3p * Az11 - bos + @13 - A213 * Azp1 + Ay3p - boiz - Az
+a132 - A1 -+ A313 + A132 - A1 - b313 — @132 - (203 - A311 — A3z - boos - 311 + (133 - A211 - A300 + bizz - Ao11 - A3m
—133 * 212 * 321 — D133 * G210 * A3p1 — A133 - Ax01 - A312 — bisz - Aot + A312 + (133 - (o0 * A311 + biss * Aopp - A3

If we compare results of above equations, we can see that we have the same result in both cases.
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8. For plan k = 2: Let A and B be cubic-matrices of order 3, where all elements on the plank = 1
and k = 3 are identical in both matrices, then we have:

ai111 4121 4131|4112 4122 4132 (@113 @123 4133
det[Asxsxs] + det[Bsxaxs] = det| a1 a221 @oz1|d212 G20 232 |A213 A3 233
az11 Aazz1 a331|d312 4322 4332 (A313 4323 4333

111 M Mz |bie b b |ans 4 4z
+det| an1 ami ax;1|baa bam boz|A2iz ams axs
A311 A1 331\ b1z bsn bszp |Aziz Az dsss

= {a111 - Az - Az33 — A111 * A232 * A303 — A111 * (203 * A3z + A111 * A233 * A300 — A112 * (201 * A333 + A112 * A223 * A331
+a112 * G231 * A323 — A112 * A233 * A321 + A113 * G221 * 4332 — @113 * A222 * @331 — A113 * 231 * A3p2 + 4113 * A232 * 4321
—A121 " A212 * @333 + A121 * A213 - A332 + A121 - A232 * A313 — A121 * 4233 * A312 + A122 * A211 * 4333 — A122 " 4213 * A331
—A122 - 4231 * A313 t A122 * A233 - (311 — 4123 * A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * 4232 * A311
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * (222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * A321
+a13p + A1+ A313 — A132 * A223 * A311 + 133 * Ap11 * A3 — A133 * 212 * A321 — A133 * A1 * A312 + (133 * (220 * A311}
+{a111 - bano - A333 — Aq11 - basp - A3p3 — A111 * A3 * D3z + 111 - (233 - bago — b11a - Az * 4333 + D1p - 03 - A331
+b112 - 31 - (323 — b112 - G233 * A3p1 + A113 - A221 - bazp — (113 - booo * A331 — @113 - 231 - bazy + (113 - oo - A3
—a121 - bo1p - (333 + (121 * A213 * b3z + @11 - bz - (313 — (121 * 4233 * D31o + Dioo - Ao11 - 333 — bioo - (213 * A331
—D122 + 931 - (313 + b1 - Ap33 * A311 — A123 - 211+ bazp + @193 - bo1o - A3z + A3 - 231 - b3ip — @123 - bosp - A311
+a131 - bo1p - 303 — (131 * A213 - b3np — @131 - b - (313 + (131 - 4203 - D312 — Dizp - 4011 - 33 + b1z - (213 - 431
+b132 - A1 - 313 — b1y - (203 - A311 + @133 - A1+ b3zy — (133 bo1o - A3p1 — Aa33 - o1 - bain + A133 - oo - A311).
Whereas,
A A1 @z1|dz b G + b @i+ b |aiz 4 @i
det[Asxaxs + Baxsxz] = det| a1 a1 31|12 + by G + by a3y + bozp [A213 A3 Aoz
Az Asp A331|A312 + baio azp + bz Az +basp Az ass as
= 111 * (@222 + b222) - A333 — 111 - (232 + D232) - 4323 — A111 + (203 * (@332 + b332) + 111 * 4233 - (@322 + b3no)
—(@112 + b112) - a221 - 333 + (112 + D112) - 203 - A331 + (@112 + b112) - A231 - A323 — (@112 + b112) - 233~ 321
+a113 - A1 - (332 + b3zp) — A113 - (A222 + bonp) * 4331 — @113 - An31 - (@322 + b322) + A113 - (A232 + bosz2) - A3
=121 * (A212 + b212) - A333 + @121 - A213 - (A332 + b332) + duo1 - (G232 + bo32) - 313 — 121 * 233 * (@312 + b312)
+(@122 + b122) - A211 - 333 — (@122 + D122) - 213 - A331 — (@122 + b122) - A231 - A313 + (@122 + b122) - 233~ A311
—a123 - Ap11 - (332 + b3szp) + @123 - (A212 + b212) - 4331 + @123 - Ao31 - (@312 + b312) — @123 - (A232 + bo32) - 4311
+a131 - (A212 + ba12) - G303 — @131 - A213 - (322 + b32) — Auz1 - (G222 + bono) - 313 + 131 * 203 * (@312 + b312)
—(@132 + b132) - A211 - a3z + (@132 + D132) - 213 - Azp1 + (@132 + b132) - A1 - A313 — (@132 + b132) - (223~ A311
+0a133 - az11 (@322 + b322) — Ay33 + (@212 + Do12) * A301 — A3z + A1 - (@312 + b312) + duzz + (A222 + Dono) - 311
= a111 - Az - A333 + A111 - Doy - 333 — @111 - Aoz * A303 — A111 - bozp - A3 — (111 - A203 * A332 — A111 - 203 - bax
+a111 + @233 * A3p2 + A111 * A233 * b3pp — A112 - Apo1 - A333 — bi1o - Aot - A333 + (112 - (203 - A331 + bi1o - A3 - A3z
+a112 + @231 A33 + D112 A31 - A3p3 — 112 + Az33 * A31 — Di1o * Ao33 - 301 + A113 - Azp1 * A3 + 4113 - A1 b3z
—a113 - A0 - A331 — A113 * Dooo ~ A331 — A113 - (231 * A30 — A113 * A231 - baop + (113 - A2z * A3p1 + A113 - by - A3
—a11 + 212 - A333 — 121 * Do1o - A333 + 121 - (213 * A332 + A121 - A213 - bazp + 121 - A2z * A313 + A121 - b3y - (313
—121 + 233 * A312 — A121 * A233 * D312 + A12p - Ap11 - A333 + Digo * Ao11 + A333 — 122 - (213 * A331 — Dino * 013 - A331
—12) * A231 - 313 — D12p - (231 * A313 + 120 * A233 - A311 + b12p - A233 - (311 — A123  A211 * A3z — A123 * 211 * D3z
+a123 - A1 - A331 + A123 * Do1o - A331 + @123 - G231 - A312 + A123 * A231 - b312 — @123 - 232 - A311 — A123 - bozp - Az
+a131 + A1+ A33 + 131 * Do1o - A3p3 — 131 - (213  A30 — (131 * A213 - b3op — 131+ A2po * A313 — A131 - by - (313
+0a131 + 03 * A312 + A131 * 4223 * D312 — A13p + Ap11  A33 — Di3o * o1y + A3 + 13 - A213 * Azp1 + Dizp - 4213 - A3
+a132 - A1 - A313 + b1 - A201 - A313 — A132 - 203 - A311 — D13 - A3 - 311 + (133 - A211 * A300 + A133 - 211 - bam
—133 * 212 * A321 — @133 * Do1o * A3p1 — 133 - Axo1 - A312 — A133 * A1 - b31o + @133 - Apo0 * A311 + Au3z - boxy - Az

If we compare results of above equations, we can see that we have the same result in both cases.
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9. For plan k = 3: Let A and B be cubic-matrices of order 3, where all elements on the plan k = 2
and k = 3 are identical in both matrices, then we have:

ai111 4121 4131|4112 4122 4132 (@113 @123 4133
det[Asxsxs] + det[Bsxaxs] = det| a1 a221 @oz1|d212 G20 232 |A213 A3 233
az11 Aazz1 a331|d312 4322 4332 (A313 4323 4333

bin i bim|aie G @iz (A3 A1z A1z
+det| boi1r b basm|ame G Ao (A2 Axms A
bsi1 baoi basi|asiz asp asx |Gz 433 4333

= {a111 - A - Az33 — A111 * A232 * A303 — A111 * (203 * Azzp + A111 * A233 * A3p0 — A112 * (201 * A333 + A112 * A3 * A331
+a112 * G231 * A323 — A112 * A233 * A321 + A113 * 221 * 4332 — A113 * A222 * @331 — A113 * 231 * A3p2 + 4113 * A232 * 4321
—A121 " A212 * @333 + A121 * A213 - A332 + A121 - A232 * A313 — A121 * 4233 * A312 + A122 * A211 " 4333 — A122 " 4213 * A331
—A122 - 4231 * A313 t A122 * 4233 - (311 — 4123 - A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * 232 * A311
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * (222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * 4321
+a13p + A1+ A313 — A132 * A223 * A311 + 133 * Ap11 * A300 — G133 * 212 * A321 — A133 * A1 * A312 + (133 * (220 * A311}
+{b111 - a220 * A333 — D111+ A3 - (323 — D111 - A203 * 433 + D11 - 233 - (30 — @112 * Doy * 4333 + 112 - 03 - b3z
+a112 - bos1 - (303 — (112 * A233 - bap1 + A113 - b1 - Azzp — (113 - A200 ~ b3z1 — @113 - bzt - Az + A113 - A2z - b3
—b121 - 212 - A333 + b1o1 - G213 * A330 + D1o1 - A3 - (313 — 121 - G233 * 4312 + G122 - Dot - G333 — @122 - 4213 * D3z
—12p - bys1 - (313 + @120 * A3z + D311 — A1z - bor1 - A3z + @193+ A21p * D3z + A3 - bzt - Az1p — @103 - A2z - b3ng
+b131 - A212 - 323 — b131 - A213 - A300 — D131 - A - (313 + bi31 - (203 - 4310 — @132 - bo11 - 33 + (132 - 4213 - ban
+a132 - b1 - 313 — @132 - 4203+ D311 + Au3z - bor1 - Az — (133 * A212 - bap1 — Aazz - bt - (312 + @133 - A2 - b3}
Whereas,
an + bt a b iz +biz|die G @i |diz 4 @i
det[Asxaxs + Baxsxz] = det| aoi1 + bt a1 + b1 a1 + bozi| a2y Az o3 |A213 423 A233
azin +bain a1 + by asz +basi|az asn a3 A3z 433 43
= (a111 + binn) - 4222 - a3z — (@111 + bi) - G232 - a3 — (@111 + Dii1) - 203~ 4332 + (@111 + biny) - 4233 - A3
—a112 - (221 + b221) - @333 + A112 - (203 * (@331 + b331) + a112 - (G231 + b231) - A323 — Ay12 - A233 - (@321 + b3z1)
+a113 - (A1 + ba1) - G332 — A113 - (202 - (331 + b331) — A1z - (A231 + bos1) - Az + 113 ~ A3z * (A321 + b31)
—(@121 + b121) - A212 - azzz + (@121 + b121) - 213 * 4332 + (@121 + bizy) - 4232 - A313 — (@121 + b121) - G233 - A312
+a122 - (211 + Da11) - 333 — @122 - (213 * (@331 + b331) — @122 * (G231 + b231) - A313 + A1z - A233 - (@311 + b3nn)
—a123 * (A211 + ba11) - G332 + @123 - (212 - (331 + b331) + Ai23 - (A231 + bo31) - Az12 — A123 * 4232 * (@311 + b311)
+(@31 + bi31) - a212 - sz — (@131 + bi31) - a3 - a3n — (@131 + bizy) - 4222 - A313 + (@131 + b131) - A203 - 312
—a132 - (A211 + bo11) - A3p3 + @132 - G213 - (321 + b321) + duzp - (G201 + bont) - 313 — @132~ 203 ~ (@311 + b311)
+a133 - (211 + ba11) - 320 — @133 - (212 * (@321 + b321) — @133+ (@221 + b221) - G312 + 133 - A222 ~ (@311 + b311)
= 111 - Ap20 - A333 + D111 - A20p - 333 — @111 - A2z * A303 — D111 - Ao3p - A3 — (111 A203 * A332 — D111 - A3 - A3
+a111 + @233 * A3p2 + D111 G233 * A3pp — A112 - Axo1 * A333 — A112 * Doo1 ~ A333 + 112 - (203 * A331 + A112 * A3 - b3z
+a112 + @231+ A33 + A112 * Dozt - Azp3 — 112 - (33 A3p1 — A12 * A233 - b3oy + @113 - Axp1 * A3z + Aq13 - by - A3z
—a113 - Ap - A331 — A113 * A222 - D331 — @113 - Ap31 - A300 — A113 * A231 - Az2p + (113 * A232 * A3p1 + A113 - A232 - b3
—a121 - 212 - A333 — D121 * G212 * A333 + 121 - A213 * A332 + Dio1 * 4213 - Azzp + (121 - A2z * A313 + Dot - A3 - (313
—a121 * 233 * A312 — b1o1  A233 * 4312 + A1 - Ap11 * A333 + A120 * D11+ 4333 — 122 - (213 * A331 — A12p * 213 - b3z
—12) * A231 * 313 — @122 - bo31 * @313 + @120 * 233 * A311 + @122 * A233 + b31n — @123 - A211 + 332 — A123 - bon1 * 433
+a123 - A1 + A331 + A123 * A212 - b3z + @123 - Ax31 - A312 + A123 * Dozt - 4312 — @123 - (232 A311 — A123 - A3 - ban
+a131 + 12 + A33 + D131 - Ao1n - A3p3 — A131 + A213 * A30 — D131+ 413 - 300 — 131 * A2p0 * A313 — D131 - Ao - (313
+0a131 + A3 * A312 + D131+ A203 * 4312 — A13p * Ap11 * A33 — A3z * Doyy ~ Aoz + @13 - (213 * A3p1 + Ay32 - A3 - b3y
+a132 - A1 - A313 + @132 - oot - A313 — @132 - (203 A311 — G132 - A3 - b311 + 133 - A211 * Az00 + 4133 - bo11 - Azm
—133 - 212 * A321 — @133 * A212 - b3o1 — @133 - Aoo1 * A312 — A3z - b1 - G312 + (133 * A2p0 * A311 + 133 - A2 - b3y,

If we compare results of above equations, we can see that we have the same result in both cases.
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O

Theorem 2. Let it be the cubic matrix B, which is formed by multiplying a plane (in the indices j and k, it
does not work in the index i) of the matrix A by a scalar o, and addition another plane, then we have:

det(A) = det(B)

Proof. Case 1. The cubic-matrix A of order 2, (and B has order 2), we will proof the case 1 for each
“vertical page” and “vertical layer”, as following:

1. For plan j = 1: Let us add first vertical page to second vertical page while multiplying by a
scalar a.

az12 A2

a a
det[Azszz] = det 1 121
az11 a1

ai112 d122 )

= 4111 - A2 — A112 * A221 — A121 * A212 + 4122 - A211-
Whereas,

det[Baxoxz]

12 A + & - a2

a1 A1 +ac-ain
det
az11 Ao t+ & - do

aip A2t a-ai )

= a111 - (Ao + @ - A212) — (A122 + @ - A112) - A1 — (@121 + @ - A111) - A212 + 122« (A1 + @ - A211).
After expanding further we get the following result

det[Baxoxa] = 111 - @202 — A112 - G221 — Q121 * A212 + A122 * A211

If we compare results of above equations, we can see that we have the same result in both cases.
2. For plan j = 2: Let us add second vertical page to first vertical page while multiplying by a
scalar a.

a a
det[Asaxo] = det| 1 121
11 4221

a1z 4122
dx12 0222

= aq11 * A2 — A112 * A1 — G121 " dz12 + 4122 * d211.
Whereas,

a1 + @ - a1 A1

detIB = det
[Baxoxo] (ﬂ211 +a-dp» am

ajpp +a-aypp 4122
apip + & - dxp 4222

= (@111 + @ - A121) - 220 — (G112 + @ - A122) - A1 — (121 - (212 + O - A220) + 122 - (A211 + @ - A1).

After expanding further we get the following result

det[Baxoxz] = 111 - G220 — @112 - G201 — (121 - A212 + A122 * A211

If we compare results of above equations, we can see that we have the same result in both cases.
3. For plan k = 1: Let us add first vertical page to second vertical layer while multiplying by a
scalar a.

a a
det[Aosaso] = det| 11 12
11 4221

a2 ad122
dr12 0222

= aq11 * A2 — A112 * A1 — A121 * A212 + 4122 * A211.
Whereas,

a a
det[Boxano] = det| 1T 1
ar11 dx

A2 + @ - a1 A2 + & - dqon
Apip + @ - A1 A + & - Ao

=a111 - (Ao + @ - A221) — (@112 + @ - A111) - A1 — G121 - (@212 + @ - Ap11) + (@122 + @ - A121) * A211.
After expanding further we get the following result
det[Boxoxz] = 111 - G220 — 4112 - A1 — A121 - A212 + 122 - A211

If we compare results of above equations, we can see that we have the same result in both cases.
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4. For plan k = 2: Let us add second vertical page to first vertical layer while multiplying by a

scalar a.
ai111 4121|4112 4122
det[Azxox2] = det
ar11 a221|d212 222
= aq11 - A2 — A112 * G221 — A121 - A212 + A122 - A211-
Whereas,

a1+ a-daye Al +a-a
det[Baxoxo] = det
az11 + & -dxp A1 + A& -y

= (@111 + @ - A112) * Ao — A112 * (A1 + @ - A20) — (@121 + @ - A122) * A212 + (122 - (A211 + @ - A212).

ai112 122
az12 A2

After expanding further we get the following result
det[Baxoxa] = 111 - d222 — 112 - A1 — 121 - 212 + A122 - 211
If we compare results of above equations, we can see that we have the same result in both cases.
Case 2. The cubic-matrix A of order 3, (and B has order 3), we will proof the case 2 for each
“vertical page” and “vertical layer”, as following:
1. For plan j = 1: Let us add first vertical page to second vertical page while multiplying by a

scalar a.
ai111 4121 A131|4112 4122 132 (4113 4123 4133

det[Asxsxs] = det| da11 a1 ada31|d2 o G232 |A213 223 233

az11 Aaszz1 a331|d312 4322 4332 (A313 4323 4333
A3 * A332 + A111 * A233 * A322 — A112 * A21 * A333 + A112 * A223 * A331
0231 * A322 t 4113 * 232 * 4321

= 111 " A222 * 4333 — A111 * 4232 * A323 — A111
+a112 - 4231 * @323 — A112 * @233 - A321 T A113 - A221 * A332 — A113 * A222 * (331 — 4113
0333 + A121 - 4213 * A332 + A121 * A232 - (313 — @121 * 4233 * A312 + A122 * 211 - A333 — A122 * A213 * 4331
©A311 — @123 - A211 * 332 + A123 * A212 - 331 + A123 - A231 " A312 — A123 " 4232 * A311
Q223 * A312 — A132 * A211 - A323 + A132 - A213 * 321

—a121 * 4212
—a122 * Ap31 * A313 T+ A122 - 233
+a131 - Ap12 * G323 — 4131 * A213 * A3p2 — A131 * A2 * 313 + A131

+a132 - G221 - 4313 — A132 * A3 * A311 + A133 - A211 * A322 — G133 * A212 * @31 — A133 * A1 * A312 + A133 - A222 * A311-

Whereas,
a111 A1 + & - dpnn 4iz1| a4z A T Q- A4z 4132 |A113 A3 - dpz 4133
det[Baxsxs] = det| axi1  axm1 + - ax1 a1|d212 oo + @ - d212 a3 |13 A3 + (- A3 233
az11 Az + & -ds;; 4331|4312 A3 T - A4312 332 |A313 G323 + - 313 4333
= ay11 - (Ao + @~ A212) - A333 — A111 - 232 * (303 + - A313) — A11 - (A3 + - A213) - 332 + A111 - (233~ (A322 + A A312)
=112 (G201 + - Ap11) - A333 + A12 * (A203 + A+ A213) - A331 + 112 - A231 * (A323 + A A313) — A112 * A33 * (A301 + A~ A311)
+a113 - (G221 + @ - A211) - A332 — A113 * (A202 + X+ A212) - A331 — A113 * A231 * (A322 + A A312) + A113 - A3z * (A301 + A~ A311)
—(a121 + @ aqy11) - az12 - azzz + (@121 + A - A1) - A213 - Azzp + (@121 + A - Ay11) - A3 - A313 — (@121 + A - A111) - (233 - A312
+(a120 + - aq12) - Az11 - 333 — (@122 + A - A112) - (213 - A331 — (@122 + A - A112) - 231 - A313 + (@122 + A - A112) * 233 - A311
—(a123 + @+ aq13) - ap11 - azzp + (@123 + A - A113) - (12 - A331 + (@123 + A - A113) - 231 - A312 — (@123 + A - A113) - A3 - A311
+a131 - 212+ (@323 + A - A313) — @131 - A213 * (@322 + @ A312) — A131 * (G20 + - A212) - A313 + 131 * (A3 + A - A213) - A312
—132 - A11 + (@323 + - A313) + A132 - 213 - (321 + @~ A311) + 132 - (221 + @~ Ao11) - A313 — A132 - (A3 + - A213) *A311
+0a133 - Ao11 + (@322 + @+ A312) — 133 * Ao12 - (@321 + @ - A311) — 133~ (G221 + - Ap11) *A312 + 133 * (A222 + - A212) - 4311
After expanding further we get the following result

= A111 * A2 * A333 — A111 * 4232 * @323 — A111 * A223 * A332 + A111 * A233 * A322 — A112 * A2p1 * A333 + A112 * A223 * 4331

+aq12 - Ap31 * G323 — A112 * 233 * A3p1 + A113 * A1 * A332 — A113 * A2 * A331 — A113 * A231 * A3 + A113 * A232 * A321
—0a121 * Ap12 * A333 + 121 * A213 * A332 + A121 * A232 * A313 — A121 * A233 * A312 + A122 * A211 * A333 — A122 * 4213 * A331

—@122 * A231 * 4313 + A122 - A33 * A311 — A123 * A211 * A332 + A123 * A212 - A331 + A123 * A231 * A312 — A123 * 4232 * A311

+a131 - A212 * A323 — A131 * A213 * A322 — A131 - A2 * A313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 - A213 - A321

T132 + 21 * A313 — 4132 * A223 * A311 + 4133
If we compare results of above equations, we can see that we have the same result in both cases.
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2. For plan j = 2: Let us add first vertical page to third vertical page while multiplying by a

scalar a.
a1 4121 4131|4112 4122 4132 (@113 4123 4133

det[Asxsxs] = det| aon1 a1 ax1|d212 G20 o3 |A213 G203 233

311 d321 4331|4312 322 43320313 @323 (333

= a111 * A2 * A333 — A111 * A232 * (323 — A111 * 223 * @332 + A111 * 233 * A322 — A112 * A221 * @333 + A112 * A223 * 4331
A321 + 113 - A221 * A332 — A113 * G222 * A331 — 4113 * 4231 " A322 + A113 " 4232 * A321

33 * A312 + A122 - A211 * A333 — A122 * A213 * A331

+a112 - 4231 * A323 — A112 * 4233
—a121 - 4212 * @333 + A121 * A213 - 4332 + A121 - 232 * 4313 — A121
—122 * A231 * 4313 + A122 * A233 * A311 — A123 * A211 * 4332 + A123 - A212 * A331 + A123
(323 — 131 * @213 * A3p2 — A131 " A2p2 * A313 + A131 * A223 ~ A312 — A132 * A211 * A323 + A132 * A213 * 4321

231 " 4312 — A123 * 232 * A311

+a131 - 4212
+a13p * Az21 * 4313 — A132 * A223 * A311 + A133 * G211 * 322 — @133 * A212 * 321 — A133 * A221 * A312 + 4133 * A222 * A311-
Whereas,
A111 4121 131t Q- a1 412 A2 Az t & -A112 (4113 A3 4133 + - 4113
det[Baxsxs] = det| axi1  ax1 a1 + - api|doi2 Ao dozp + - do1n |13 A3 33 + (- 13
a3z + & -dzi1|dz2 A3 A332 + & - A4312 (4313 A323 4333 + & - 4313

(A3 + - a213) - Az

az11 a3
= a111 A2 - (A333 + @ - A313) — A111 - (A232 + - A212) * A3p3 — A111 * A223 * (A332 + - A312) + A111
Ax31 + Q- A211) Az — A112 - (A33 + O - A213) - A3

—a112 * A1 - (333 + & - A313) + A112 - A3+ (A331 + A - A311) + A112
Az +a113 - (A2 + A - A212) - A301

(
+a113 - A1 - (@332 + - A312) — A113 - A0 - (331 + @ - A311) — A113 * (A231 + A~ Ao11) -
—121 - A212 * (@333 + (- A313) + A121 - A213 - (G332 + @~ A312) + 121 - (G232 + A~ A212) 4313 — A121 * (G233 + A - A213) * (312
+a122 - a1 - (@333 + @ A313) — 122+ A213 - (@331 + - A311) — A1z * (A231 + @ - A211) - A313 + 122+ (A233 + @+ A213)  d311
“A212 * (A331 + @ A311) + 123 - (G231 + - A211) - A312 — A123 - (A232 + A - A212) “ A311

—A123 - Ap11 - (G332 + A - A312) +A123
az3 + (A131 + @ - a111) - A3 - A312

+(a131 + - aq11) - 212 - A3p3 — (@131 + Q- A111) * A3 - A30 — (@131 + A A111) * A2 -
—(@32 + - a112) - Ax11 - A3p3 + (@132 + A - A112) - 213 - Az + (@132 + X - A112) - Ao21 - A313 — (@132 + A - A112) - A223 - A311
+(a133 + @ - a113) - A11 - A3p0 — (@133 + A+ A113) - Az12 - A3p1 — (@133 + A - A113) - A1 * A312 + (@133 + A - A113) * A220 * A311.
After expanding further we get the following result
= A111 * G222 * 4333 — A111 " 232 * A323 — A111 * 223 * A332 + A111 * A233 * A3p2 — A112 * A221 * A333 + A112 * 4223 * 4331

+a112 * 4231 * A323 — A112 * A233 * A321 + A113 * G221 * 4332 — A113 * A222 * @331 — A113 * A231 * A3p2 + 4113 * A232 * 4321
Q212 * A333 + A121 * A213 - A332 + A121 - (232 * A313 — A121 * 4233 * A312 + A122 * A211 " 4333 — A122 " 4213 * A331
*A311 — @123 * A211 * 332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * A232 * 4311
222 - A313 T A131 * A223 * A312 — A132 * A211 * A323 + 4132 * A213 * A321

A1 * A3p1 — A133 " A21 * A312 + A133 * A222 * A311-

—mh21
—122 - 4231 * A313 T A122 * 1233
+a131 - A212 * A323 — A131 * 213 * A322 — A131
+a132 - (221 * (313 — A132 * A223 * 311 + A133 - A211 * A322 — A133

If we compare results of above equations, we can see that we have the same result in both cases.
3. For plan j = 3: Let us add second vertical page to third vertical page while multiplying by a

scalar a.
111 121 4131 d112 Q122 4132 |A113 @123 0133
det[Asxsxs] = det| aoi1 am1 axi|d22 G2 o |A213 A3 4233
asz11  Adsp1 A331|0312 A322 A332 (@313 A323 (333

= A111 * A2 * A333 — A111 * 4232 * A3p3 — A111 * A223 * A332 + A111 * A233 * A322 — A112 * A1 * A333 + A112 * 223 * 4331

+a112 - 231 - A3p3 — A112 * G233 * A321 + A113 - A1 - A332 — A113 * A222 * A331 — A113 * A231 * A3p2 + A113 - A232 - A321

—a121 * A212 * 4333 + Aq21 - A213 * A332 + A121 - A232 * A313 — A121 " A233 * A312 + A122 * A211 * A333 — A122 * A213 * A331
=122 * Ap31 * A313 + A122 * A233 * A311 — A123 * A211 * A332 + A123 * A212 * A331 + A123 * 4231 * A312 — A123 * A232 * A311
+a131 - A212 - @323 — A131 * 4213 * A322 — A131 * A222 * A313 + A131 * A223 * A312 — A132 * A211 * A323 + A132

as11 + A133 - A11 * A3 — G133 * A212 * A321 — 133 * A1 * A312 + A133 * Ao * A311-

* 213 * A321

+aq32 - App1 4313 — 4132 " 223 *
Whereas,
a1 @121 @131 Q- Appi|die A A1z + - adip @113 4123 4133 + A - A123
det[Bsxsxs] = det| axi1  ami1 a1 + - ami|dan o A+ - dax A2z A2z (233 + - A3
Asp1 A331 + (- A31|A312 A3 A332 + (& - A3 (A313  A3p3 A333 T A - d33
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= 111 - A0 - (A333 + - a3p3) — A111 - (232 + Q- A2p0) - A33 — A111 - A3~ (A332 + A - A312) +aA111 - (A233 + A - A223) - A3
—112 * Ax01 - (333 + A - Az3) + A112 - A2p3 - (A331 + A - A321) + 112 (A231 + A - A211) - Azp3 — A112 * (A233 + A - A23) - A321

(

+a113 A1 (@332 + @ - A30) — A113 * Azp0 * (@331 + A - A31) — A113 * (@31 + A Ax11) - Azpp + A113 * (A2 + A Azp0) - A1
(
(

—a121 - 212 * (@333 + A+ A323) + A1 - A213 + (A332 + A~ A3p2) + A1
+a122 * A1 * (@333 + @+ A323) — A12p * A213 * (A331 + A A3p1) — A2
“(azz + A - azpp) + 123 - A1z * (331 + A - A3p1) + 123+ (G231 + A+ A211) - Az12 — A123 * (A232 + A - A22) - 311
a313 + (@131 + @ A121) - 203 - 4312

Ay + (- A12) - A313 — (121 - (A233 + A - A23) - A312
Ay31 + - A211) - Az13 + 122 - (A233 + O - A03) - A311

—a123 * 4211
+(a131 + - a121) - 12 - A303 — (@131 + A - A121) * A3 - A30 — (@131 + A A121) * A2 -
—(a132 + @+ a122) - az11 - a3z + (@132 + A - A122) - (213 - A321 + (@132 + A - A122) * (201 - A313 — (@132 + A - A122) * A3 - A311
+(@133 + - a123) - Ao11 - 32 — (@133 + - A123) - 212 - A3p1 — (@133 + A A123) * A1 * A312 + (@133 + A+ A123) - A222 * A311.
After expanding further we get the following result

= A111 * G222 * 4333 — A111 " 232 * @323 — A111 * A223 * A332 + A111 * A233 * A322 — A112 * A221 * A333 + A112 * (223 * 4331
+a112 * G231 * A323 — A112 * A233 * A321 + A113 * G221 * 332 — A113 * A222 * @331 — A113 * A231 * A3p2 + 4113 * A232 * A321
*A213 - A332 t+ A121 - (232 - A313 — A121 * (233 * A312 T+ A122 * 211 * @333 — A122 * A213 * 4331
0211 * 332 + A123 * A212 - A331 + A123 - A231 " A312 — A123 " 4232 * A311
Q223 * A312 — A132 * A211 - A323 + A132 - A213 " 31

*App1 * A312 + 133 Az * A311-

—A121 * 4212 * 4333 + 121
—122 * (231 * A313 T A122 * (233 * A311 — A123
+a131 * A212 * 323 — A131 * (213 * A322 — A131 * (222 * A313 T A131
+a132 * (221 * (313 — A132 * A223 * A311 T A133 * A211 * A322 — A133 * A212 * A321 — (133
If we compare results of above equations, we can see that we have the same result in both cases.
4. For plan k = 1: Let us add first vertical layer to second vertical layer while multiplying by a

scalar a.
a1 a121 @31|d112 A1z 132 (@113 A123 4133
det[Asusxs] = det| aon1 a1 ax1|d212 G222 o3 |A213 (203 233
311 31 A331|0312 a322 332 (@313 A323 1333
= A111 * G222 * 333 — A111 " (232 * @323 — A111 * A223 * A332 + A111 * 4233 * A322 — A112 * A221 * A333 + A112 * (223 * 4331

321 + 4113 * A1 " A332 — A113 * A2 * A331 — A113 * A231 * A322 + A113 * A232 * 4321
*A313 — 4121 * A233 * A312 + A122 * Ap11 * A333 — A122 * A213 * 4331

+a112 - 231 - A323 — A112 * 4233

—a121 * Ap12 * A333 + 121 * A213 * A332 + A121 * A232
A1 * A331 t A123 " A231 * A312 — A123 * A232 * A311

*A3p3 + 4132 * A213 " A321

—a122 * Ap31 * A313 T A122 * A233 * A311 — A123 * A211 * A332 + A123
+a131 * Ap12 * A323 — A131 * A213 * A322 — 131 * A2 * A313 + A131 * A223 * A312 — A132 * A211
+a132 - 221 - A313 — A132 * A203 * A311 + A133 - A211 * A322 — A133 * A212 " A3p1 — A133 * A1 ~ A312 + A133 - A222 * A311.

Whereas,

a1 4121 31| T Q- ai A - Ay dizp + & -4z A3 4123 4133

det[Baxsxs] = det| axi1  axm1 aps1|do12 + @ - o1 oo + - dopy dozp + - do3y (213 A3 (233

as11 A3 A331|A312 T Qa3 Az T A3 Az + Q- a3z |A313 4323 4333
= aq11 - (Ao + Q- Ap01) - A333 — A11 * (232 + - A231) * A303 — A111 * A203 * (A332 + A+ A331) + 111 - A233 + (A300 + A - A321)
—(a112 + @+ aq11) - azo1 - azzz + (@112 + A - A111) - 03 - 331 + (@112 + A - A111) - @231 - A323 — (@112 + A - A111) - A233 - A31
+a113 * A1+ (A332 + @ A331) — Ay13 * (A0 + A - A2p1) - 331 — A113 * Ap31 * (@322 + A A321) + A113 * (A3 + A A231) - A31
—a121 - (@212 + @ - A211) - A333 + A121 - A213 * (@332 + @ A331) + @121 - (232 + A - A231) - A313 — 121 * (233 * (@312 + - A311)
+(a122 + - a121) - Az11 - 333 — (122 + A - A121) - A213 - A331 — (@122 + A - A121) * 231 - A313 + (@122 + A - A121) - A233 - A311
123+ Ax11 * (@332 + (@ A331) + A123 * (G212 + A+ A211) - A331 + A123 * Ap31 * (A312 + A - A311) — A123 * (@32 + A A231) - A311
+a131 - (G212 + @ - A211) - A323 — A131 - 4213~ (G322 + @ - A3p1) — 131 (G220 + - A1) - A313 + A131 * A3 - (@312 + - A311)
—(@132 + - a131) - Ax11 - A3p3 + (@132 + - A131) - 213 - Az + (@132 + @ - A131) - A2 - A313 — (@132 + @ - A131) - A203 - A311
+a133 - A11 * (322 + - A301) — @133+ (A212 + A+ A11) * (321 — A133 * A1 + (A312 + A - A311) + A3z * (A0 + A - A1)  A311.
After expanding further we get the following result

= a111 * A2 * A333 — A111 * 4232 * @33 — A111 * 223 * A332 + A111 * A233 * A322 — A112 * A1 * A333 + A112 * 223 * 4331

*A3p1 + 4113 * A1 - A332 — A113 * Appp * A331 — A113 * A231 * A322 + 113 * A3 * 4321
A3 * 313 — A121 * A233 * A312 + A122 * 4211 * A333 — A122 * 4213 * A331
A1 * A331 + A123 * A31 * A312 — A123 * A232 * A311

+aq12 - Ap31 * A323 — 112 * 233
=121 * Ap12 * A333 + A121 * A213 * A332 + d121

—A122 * Ap31 * A313 + A122 * A233 * A311 — A123 * A211 * 4332 + A123
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+a131 * A212 * A323 — A131 * A213 * A322 — A131 * (222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * A321
+a132 - A21 * A313 — A132 * 223 - A311 + A133 - A211 * A3p2 — @133 * A212 * A321 — 4133 * A221 " 4312 + A133 " A222 * A311.
If we compare results of above equations, we can see that we have the same result in both cases.
5. For plan k = 2: Let us add first vertical layer to third vertical layer while multiplying by a

scalar a.
ai111 4121 A131|4112 4122 132 |4113 4123 4133

det[Asusxs] = det| aon1 a1 ax1|d212 G20 o3 |213 G203 233

asz11  Asp1 331|312 A322 A332 (@313 A323 0333
Q223 * A332 + A111 * A233 - A322 — A112 * A221 " 4333 + A112 " 4223 * A331
222 * (331 — A113 * A231 * A322 + A113 * A232 * A321

= 111 - Az22 * 4333 — A111 * A232 * A323 — 111
+a112 * 4231 * A323 — A112 * A233 * A321 + A113 * A221 * 4332 — A113
—A121 - 4212 * @333 + A121 * A213 - A332 + A121 - A232 * A313 — A121 * 233 - A312 + A122
A313 + A122 * A233 * A311 — A123 * A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * (232 * 4311
322 — (131 * A2 * A313 + A131 * A223 - A312 — A132 * A211 " 4323 + A132 4213 * A321
0212 * A321 — @133 * A221 * A312 + A133 * A222 * A311.

0211 * A333 — A122 * A213 * 4331

—122 4231

+a131 - 4212 * A323 — 4131 * 4213

+a13p * Azp1 * 4313 — A132 * A223 * A311 + A133 * A211 * 4322 — 4133
Whereas,

ais1|d112 A2 @132 (@113 + Q- A1 A3 A - d1p1 133 T Q- Aq31

a1 4121
ap3z + &+ dr31

det[Baxsxs] = det| axi1  ami1 a431|a212 Ap A3 |A213 + @ - A211 Ax3 + & - doy
as11 A3l A331|A312 A32 A332 (4313 + 4311 A3z + X - d3zxy 333 + & - a3z

= ay11 - A - (A333 + - A331) — Ay11 - A3z * (A323 + - A3p1) — A111 - (A3 + - A1) *Azzp + 117 - (A233 + - A231) - A322

A331 +A112 * Ap31 * (A323 + - A321) — A112 * (A33 + A Ap31) - A31

31 — (@113 + @+ A111) - Ax31 - Azpp + (A113 + A - A111) - A232 - A301

A33p + 121 * 232+ (@313 + - A311) — Ayo1 + (A233 + @ - A231) * A312
A331 — 122 * Ax31 * (A313 + @ A311) + 122 - (G233 + A - A231) - A311
331 + (@123 + @ - A121) - 231 - A312 — (@123 + A+ A121) - A3 - A311
A3pp — A131 * App2 * (A313 + - A3171) + A131 * (A3 + A+ A2p1) - A312
A1 + @132 Az01 + (A313 + A - A311) — 132+ (A3 + A A201) - A311
A3p1 — (@133 + @ A131) - Az01 - A312 + (@133 + A - A131) - A220 - A311
A3p1 — @133 - A21 * (A312 + A - Ao11) + 133 - (A222 + @+ A221) - A311.

—112 A1 * (@333 + - A331) + A112 - (A3 + - A221) -
+(@113 +a-ay1) - a1 a2 — (@113 + - agnn) Ao
—121  A212 - (@333 + @ - A331) + A121 - (@213 + - A211) -
+a122 - az11 - (A333 + @ - 4331) — A1z - (A213 + - d211) -
—(@123 + - a121) A1 A332 + (@123 + - A121) 212
+0a131 - 212 - (@323 + & - A321) — Ay31 - (A213 + - A211) -
—13p - Az11 + (@323 + - A321) + A3z - (A213 + - A211) -
+(@133 + - a131) - Ax11 A3 — (@133 + - A131) 212
+0a133 - az11 - (G322 + - Az21) — 133 * (212 + - A211) -
After expanding further we get the following result,

= a111 * A2 * A333 — A111 * 232 - A323 — A111 * G223 * A332 + A111 * A233 * A322 — A112 * A221 * A333 + A112 * 4223 * 4331

0233 * A3p1 + A113 * A221 - A332 — A113 * A222 * A331 — A113 * 231 * A322 + A113 - (232 * 31
232 * A313 — A121 * A233 * A312 + A122 * A211 * A333 — A122 * 4213 * 4331
212 * A331 + A123 * 231 - A312 — A123 - (232 * 4311
*An11 * A323 + 4132 * 4213 * 4321

+a112 - 4231 * A323 — A112
—a121 * A212 * A333 + A121 * 4213 * 4332 + 4121
—A122 - 4231 * A313 + A122 * A233 - A311 — @123 * 4211 * 332 + 4123
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * G222 * 4313 + A131 * 223 * 312 — A132
+a132 - A21 * A313 — A132 * 223 - A311 + 4133 - A211 * A3p2 — @133 * A212 * A321 — 4133 * A221 " A312 + A133 " A222 * A311.
If we compare results of above equations, we can see that we have the same result in both cases.
6. For plan k = 3: Let us add first vertical layer to third vertical layer while multiplying by a

scalar a.
ai111 4121 A131|4112 4122 4132|4113 4123 4133

det[Asusxs] = det| aon1 a1 ax1|d212 G222 o3 |A213 G203 233

asz11 31 A331|0312 a322 332 (@313 A323 1333
Q223 * A33p + A111 * A233 - A322 — A112 * A221 " 4333 + A112 " 4223 * A331
222 " A331 — A113 * A231 * A322 + A113 * A232 * A321

= d111 * 222 * 4333 — A111 * @232 * A323 — 111
+a112 * 4231 * A323 — A112 * A233 * A321 + A113 * A221 * 4332 — A113
0212 * A333 + A121 * A213 - A332 + A121 - A232 * A313 — A121 * 4233 * 312 + A122
(233 * A311 — A123 * A211 * A332 + A123 * A212 * A331 + A123 * A231 * A312 — A123 * 4232 * 4311
222 - A313 T A131 * A223 * A312 — A132 * A211 * A323 + 4132 * A213 * 4321
0212 * A321 — A133 * A221 * A312 + @133 * A222 * A311-

—a121 0211 * A333 — 122 * A213 * 4331

=122 - A231 - 313 t A122 -
+a131 - Az12 - A323 — A131 * 4213 * A322 — A131

+a132 - App1 * A313 — A132 * A223 * A311 + A133 * A211 * A322 — A133
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Whereas,
A111 4121 4131|4112 A1z M132 (A3 + & - drp A3 - Ay A1z t A A132
det[Baxsxs] = det| ax11 a1 axi|d212 22 a3 |A213 + @Az A3 + Ay A3z t+ (- dp3
311 4321 @331|A312 A3 4332|4313 + A - A312 4323 + (- A3 A333 + (- 4332
= 111 - A2z - (A333 + @+ A332) — A11 * A3 * (@323 + - A322) — 111 (G203 + - A220) - A332 + 111 - (A233 + (A~ A232) * A3
—a112 * A1 * (@333 + @ A332) + A1p * (203 + A - A2p0) - A331 + A112 * Ap31 * (@323 + A A30) — A112 * (@233 + A~ Ax32) - A1
+(a113 + - ay12) - Az - Az32 — (@113 + - A112) - A0 - A331 — (@113 + A - A112) - A231 - A3 + (@113 + A - A112) *A232 - A31
—a11 * A212 * (@333 + @+ A332) + A1 * (213 + A - A212) - A33p + A1 * Ap3p * (@313 + A A312) — A1 * (G233 + A+ Ar32) - A312
+a122 A1 * (@333 + @ - A332) — A12p * (G213 + A+ A212) - A331 — A122 * Ap31 * (A313 + A - A312) + A120 * (@233 + A~ Ax32) - A311
—(@123 + @+ A122) * (211 * A332 + (@123 + A - A120) - Az12 - A331 + (@123 + X - A122) - A231 - A312 — (@123 + A~ A122) *A232 - A311
+a131 - 212 - (@323 + A - A3p2) — Ay31 * (A213 + A~ A212) - A3p0 — A131 * A2p2 * (A313 + A A312) + 131 * (203 + A - A20) - A312
—132 - Az11 * (@323 + Q- A3p2) + A132 * (A213 + X - A212) * Azp1 + 132 * Aot - (A313 + @ A312) — A132 * (203 + - A7) * A311
+(a133 + - ay32) - Az11 - Az — (133 + A - A132) * (212 - A321 — (133 + A - A132) * (201 - A312 + (@133 + A - A132) - A0 * A311
+a133 - 11 + (A320 + @ A220) — A133 * (A212 + A - A212) - A3p1 — A133 - A1 * (312 + A - A212) + 133+ (A2 + A+ A220) - A311.
After expanding further we get the following result,

= ai111 * A2 * A333 — A111 * 4232 * A3p3 — A111 * 223 * A332 + A111 * A233 * A322 — A112 * A1 * A333 + A112 * 223 * 4331

+a112 * 4231 * A323 — A112 * A233 * A321 + A113 * 221 * 4332 — A113 * A222 * @331 — A113 * 231 * A3p2 + 4113 * A232 * 4321
—a121 * A212 * A333 + A121 * A213 * A332 + A121 * (232 * 4313 — A121 * A233 * A312 + A122 * A211 * @333 — A122 * A213 * 4331
—122 * 4231 * 4313 + A122 * A233 * A311 — A123 * G211 * 332 + A123 * A212 * A331 + A123 * 231 * A312 — 4123 * A232 * 4311
+a131 * A212 * A323 — A131 * A213 * A322 — A131 * G222 * 4313 + A131 * A223 * A312 — A132 * A211 * A323 + A132 * A213 * A321
+a13p * Az21 * 4313 — A132 * A223 * A311 + A133 * G211 * 322 — @133 * A212 * A321 — A133 * A1 * A312 + 4133 * A222 * A311-
If we compare results of above equations, we can see that we have the same result in both cases.

Remark 1. This theorem does not hold for plan ”Horizontal Layers”.

Theorem 3. Suppose that A is 3D Determinant with two identical ”Vertical Pages” or two identical
“Vertical Layers”.

Then |A| = 0.
Proof. Case 1. The cubic-matrix A of order 2 with two identical ”Vertical Pages” or two identical

“Vertical Layers”, we will proof the case 1, as following:
1. For two identical ”Vertical Pages”:

a a
det( 111 111

d-et[AZ><2><2]

ar12 0212

ai112 4112
11 A211

= 4111 - d212 — 112 * 4211 — 4111 - d212 + A112 * 4211
=0.
2. For two identical ”Vertical Layers”:

t(ﬂm ai121

det[A2><2><2]

dr11  a221|d211 A221

A1 a4121 )
= a111 - A1 — A111 - A221 — A121 * A211 + 121t dom
= 0.
Case 2. The cubic-matrix A of order 3 with two identical ”Vertical Pages” or two identical ”Vertical
Layers”, we will proof the case 1, as following;:
1. For two identical ”Vertical Pages”, first “Vertical Page” identical to second ”Vertical Page”:
A1 din Aiz|diz Aiz 4132|4113 A1z 4133

det[Asxsxs] = det| 211 @211 a231|d212 G212 d232 |A213  A213  d233
az11 a311 as331|4312 4312 4332 (@313 4313 4333
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33 - A312 — A112 * A211 * 333 + A112 - 4213 - 4331

= a111 - 212 - 4333 — A111 * @232 - A313 — A111 * 4213 * 332 + A111
* 31 * Az12 + A113 - A232 * 4311

0313 — A112 " 4233 * A311 + 4113 * 211 - 4332 — A113 * 4212 * 4331 — 4113
*A332 + A111 - A232 * A313 — A111 * 4233 * A312 + A112 * A211 * 4333 — A112 * 4213 * 4331
A3z + A113 - A212 * A331 + 4113 * A231 - 312 — 4113 - 4232 * 4311
* 0213 " A312 — @132 * A211 * A313 + A132 * A213 * A311

+a112 - 4231

—ai11 * A212 * 4333 + 4111 * 4213

—A112 - 4231 * @313 t A112 * A233 4311 — A113 " 4211

+a131 * A212 * 4313 — A131 * 4213 * 4312 — 4131 * 212 * 313 + 4131
+a13p - Az11 * 313 — A132 * A213 * A311 + (133 * A211 * A312 — A133 * A212 * A311 — 133 * d211 * A312 + A133 - Az12 - A311 = 0.
2. For two identical “Vertical Pages”, first “Vertical Page” identical to third ”Vertical Page”:

ai111 4121 4111|4112 4122 4112 (@113 4123 4113

det[Asxsxs] = det| a211 a0 azi1|@212 Axp 212|213 A3 d213
az11 as3z1 4311|4312 4322 4312 (@313 4323 4313

= A213 - A322 — A112 * G221 * 313 + A112 - 4223 - 4311

= a111 - 4222 - 4313 — A111 * @212 - A323 — A111 * 4223 " 312 + A111
11 * Az + A113  A212 * 4321

*A3p3 — A112 " A213 * A321 + A113 -~ A1 * G312 — 4113 A2 * 4311 — 4113
*A312 + 4121 * A212 * 313 — A121 * A213 * A312 + A122 - A211 * 4313 — A122 * 4213 * 4311
*Az11 * Az12 T A123 - A212 * 4311 T A123 * A211 * A312 — A123 * A212 * A311

+a112 - dz11
—a121 * A212 * 4313 + 4121 * 4213
—a122 - 4211 * @313 + A122 * 4213 - 4311 — 4123
+a111 * A212 * 4323 — A111 * 4213 * 322 — A111 * G222 * 4313 + A111 * G223 * A312 — A112 * A211 * @323 + A112 * 4213 * 4321

a1 - A1+ 313 — A112 * G223 * A311 + A113 * A211 * A3p2 — A113 * A212 * A321 — A113 * A221 * A312 + A113 - A2 - A311 = 0.

3. For two identical " Vertical Pages”, second " Vertical Page” identical to third ”Vertical Page”:

a1 4121 4121|4112 4122 4122 (@113 4123 4123

det[Asxsxs] = det| a211 a0 ami|aoi2 axp A0 |213 A3 a3
az11 aszz1 Asp1|dz12 432 4322 (d313 4323 4323

A3 + Aq11 * G203 * A3 — A112 * A1 * A323 + A112 - A223 * 321

= a111 " A222 * 433 — A111 * A222 * A323 — A111 * 4223 °
A321 — A113 * App1 " A322 + A113 * A2 * 4321

+a112 - Q21 * A323 — A112 * 223 - A321 + A113 - A221 * A322 — A113 * 4222
Q323 t 4121 * 213 * A322 + A121 * A222 * A313 — A121 * A223 * A312 + A122
©A311 — 123 * A211 * 322 t A123 * A212 - 321 + A123 - A221 * A312 — A123 * A2 * A311
222 * A313 t A121 * A223 * A312 — A122 * A211 * A323 + A122 * A213 * A321

—da121 * 4212 211 * A323 — A122 * A213 * A321

—A122 - A221 * 4313 + A122 * 4223
+d121 * A212 * A323 — A121 * 4213 * A322 — A121
+a12; - (01 * (313 — A122 * A223 * A311 + (123 * 211 * A3p2 — (123 * A212 * (321 — (123 * 221 * A312 + A123 * Az * A311 = 0.
4. For two identical “Vertical Layers”, first “Vertical Layer” identical to second ”Vertical Layer”:

ai111 4121 41314111 4121 4131 (@113 4123 4133

det[Asxsxs] = det| a211 a0 a31|@211 A1 4231|213 A3 d233
az11 Aas3z1 a331(4311 4321 4331 (@313 4323 4333

A331 + A111 - G233 * A321 — A111 - A221 * A333 + A111 * 4223 * 4331
A1 * A331 — A113 " A231 * A321 + A113 * A231 * A321
211 * A333 — A121 * A213 * 4331

= 111 * G221 * 4333 — A111 * A231 * 4323 — A111 * 4223 °
+ai111 - 4231 * @323 — A111 * @233 - A321 T A113 - A221 * 4331 — A113
333 t+ A121 - (213 - A331 T A121 * A231 * A313 — @121 * 4233 * 4311 + 4121
©A311 — @123 * A211 * 4331 t A123 * A211 * 4331 + A123 * A231 * 4311 — A123 * 4231 * 4311
221 * A313 T A131 * A223 * A311 — @131 * A211 * A323 + 4131 * 4213 * 4321

—a121 * A211
—aA121 - 4231 * @313 t A121 * 4233
+a131 * d211 * 4323 — A131 * 4213 * 4321 — A131
+a131 + (201 * (313 — A131 * A223 * A311 + A133 * A211 * A3p1 — A133 * A211 * A321 — 133 * A221 * A311 + A133 * Az21 * A311 = 0.
5. For two identical ”Vertical Layers”, first “Vertical Layer” identical to third ”Vertical Layer”:

ai111 4121 A131|4112 4122 4132|4111 A121 4131

det[Asxsxs] = det| ao11 a0 ami|a2i2 axmo A3 |21 A1 A3
az11 Aaszz1 A331|4312 A3 4332 (A311 4321 1331

A1+ 4332 + A111 * A231 * A322 — A112 * G221 * 331 + A112 * A221 * A331
Appp - A331 — A111 * A231 * A3pp + A111 - A232 - 4321
da11 + A331 — A122 * 211 * 4331

= 111 * 222 * 4331 — A111 * @232 * A321 — 111
+a112 * 4231 * A321 — A112 * A231 * 4321 + A111 G221 - 332 — A111
331 t A121 - A211 - A332 T A121 * A232 * A311 — @121 * 4231 * A312 + A122
A231 * A311 — A121 * A211 * A332 + A121 * A212 * 4331 + A121 * A231 * A312 — A121 * G232 * 4311
222 - A311 T A131 * A1 * A312 — A132 * A211 * A3p1 + 4132 * A211 * 4321

—da121 * 4212
=122 - A231 - 311 t A122 -
+a131 - Az12 - A321 — A131 * A211 " A322 — 4131

+a132 - A1 A311 — A132 * A1 - A311 + A131 * 11+ A3p2 — A131 * 12 * A3p1 — A131 * Ax21 * A312 + A131 * Apop ~ A3y = 0.
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6. For two identical ”"Vertical Layers”, second ”Vertical Layer” identical to third ”Vertical Layer”:

a1 4121 a131|d112 4122 4132 [A112 d122 4132
det[Asxsxs] = det| a211 a0 as1|a212 axp 432|212 G220 A3
az11 a3z1 A331|d312 4322 4332 (A312 4322 4332

= aq11 * G222 * A332 — A111 * A232 * A322 — A111 * 222 * 332 + A111 * A232 * 322 — A112 * A1 * A332 + A112 * A222 * 4331
+a112 * 4231 * A3p2 — A112 * A232 * A321 + A112 * G221 * 332 — A112 * A222 * A331 — A113 * A231 * A3p2 + A112 * A232 * A321
—A121 " 4212 * A332 + A121 * A212 - A332 + A121 - A232 * A312 — A121 * A232 * A312 + A122 * A211 * A332 — A122 " A212 * A331
—122 * 4231 * A312 + A122 * A232 * A311 — A122 * A211 * 332 + A122 * A212 * A331 + A122 * 231 * A312 — A122 * A232 * 4311
+a131 * Az12 * A3p2 — A131 * A212 * A322 — A131 * G222 * A312 + A131 * A222 * A312 — A132 * A211 * A3p2 + A132 * A212 * A321

+a132 - A1+ A312 — A3 * A2 * A311 + A13 - 211 - A2 — A13p * 12 * A321 — A132 * A2 * A312 + A132 * Apop ~ Az11 = 0.
O
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